
 

'&��$����� 

?D<>47>< $545D4?L=>7> 475=FEF64 

?> F5E=<G5E>><G D57G?<D>64=<N 

< <5FD>?>7<< 

>F «30» <4DF4 2023 7. 7 691 
 

 �<EF 7 1 

$57<EFD4F<>==O= 7 88629-23 �E57> ?<EF>6 47 

 

 

���%���� &��� %$��%&�� ����$���� 

 

�47>4=4?<74F>DO ���� 
 

�47=4G5=<5 ED54EF64 <7<5D5=<= 

�47>4=4?<74F>DO ���� (44?55 3 747>4=4?<74F>DO) ?D54=47=4G5=O 4?O <7<5D5=<O 
E>45D64=<O >5N5<=>= 4>?<, <4EE>6>= < 4>67DO6=>= >>=F5=FD4F<< F>>E<G=OE, 7>DNG<E, 
G7?56>4>D>4=OE 747>6 < ><E?>D>44 6 6>74GE5 D45>G5= 7>=O, 6 74>DOFOE (74<>=GFOE) < 
6<?OE ?><5M5=<OE, 6 ?D><OL?5==OE ?><5M5=<OE < >F>DOFOE ?D>EFD4=EF6 
?D><OL?5==OE >5N5>F>6, FDG5>?D>6>44E < 6>74GE>6>4>6, < ?>44G< ?D54G?D54<F5?L=>= 
E<7=4?<74F<< > ?D56OL5=<< GEF4=>6?5==OE ?>D>7>6OE 7=4G5=<=. 

 

�?<E4=<5 ED54EF64 <7<5D5=<= 

�D<=F<? 45=EF6<O 747>4=4?<74F>D>6 >?D545?O5FEO F<?>< <E?>?L7G5<>7> E5=E>D4: 
3 F5D<>>4F4?<F<G5E><5 (&�), >E=>64==O5 =4 55E??4<5==>< >><E?5=<< 7>DNG<E 

>><?>=5=F>6 747>6>= E<5E< =4 ?>65DE=>EF< >4F4?<74F>D4; 

3 M?5>FD>E<<<G5E><5 (-%), >E=>64==O5 =4 ?>F5=F<>EF4F<G5E>>= 4<?5D><5FD<<, 
74>?NG4NM5=EO 6 <7<5D5=<< F>>4 ?D< M?5>FD>E<<<G5E>>< >><E?5=<< 65M5EF64 =4 D45>G5< 
M?5>FD>45 M?5>FD>E<<<G5E>>= OG5=><; 

3 <=DD4>D4E=O5 (��), >E=>64==O5 =4 E5?5>F<6=>< ?>7?>M5=<< <>?5>G?4<< 
>?D545?O5<>7> >><?>=5=F4 M?5>FD><47=<F=>7> <7?GG5=<O < <7<5D5=<< <=F5=E<6=>EF< 
<=DD4>D4E=>7> <7?GG5=<O ?>E?5 ?D>E>645=<O << ED54O, E>45D64M5= >?D545?O5<O= 
>><?>=5=F; 

3 D>F><>=<74F<>==O5 ($�), >E=>64==O5 =4 <7<5D5=<< E<?O F>>4, 6O764==>7> 
<>=<74F<5= 747>6 < ?4D>6, ?D>?>DF<>=4?L=>= >>=F5=FD4F<< >?D545?O5<>7> 65M5EF64; 

3 ?>?G?D>6>4=<>>6O5 (��), >E=>64==O5 =4 <7<5D5=<< <7<5=5=<O 
M?5>FD>?D>6>4<<>EF< ?>?G?D>6>4=<>>6>7> 747>GG6EF6<F5?L=>7> E?>O ?D>?>DF<>=4?L=>= 
>>=F5=FD4F<< >?D545?O5<>7> 65M5EF64, ?D< E<<<G5E>>= 44E>D5F<< 7474 =4 57> 
?>65DE=>EF<. 

�>=EFDG>F<6=> 747>4=4?<74F>DO ?D54EF46?ONF E>5>= 46F><4F<G5E><5 ?D<5>DO 
=5?D5DO6=>7> 45=EF6<O 6 ?5D5=>E=>< (?>DF4F<6=><) < EF4F<>=4D=>< <E?>?=5=<<, 
>F?<G4NM<EEO 4DG7 >F 4DG74 ?5D5G=5< >?D545?O5<OE >><?>=5=F>6 < 4<4?47>=4<< 
<7<5D5=<=. 

� 746<E<<>EF< >F <E?>?=5=<O 747>4=4?<74F>DO 6O?>?=5=O 6 <5F4??<G5E>><, 

4?N<<=<56>< <?< ??4EF<>>6>< >>D?GE5. 

� 746<E<<>EF< >F F<?4 >>D?GE4 747>4=4?<74F>DO <<5NF D47?<G=O= GD>65=L IP. 

�7DO6>74M<M5==>5 <E?>?=5=<5 <<55F >5>7=4G5=<5 Ex < <4D><D>6>G 
67DO6>74M<FO, G>474==OE 6 F45?<F5 1. 
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&45?<F4 1 3 �>4<D<>4F<< 747>4=4?<74F>D>6 

 

�5D5=>E=O5 747>4=4?<74F>DO <>7GF >F?<G4FLEO >>=EFDG>F<5= < >>?<G5EF6>< 
E5=E>D>6.  

�5D5=>E=O5 747>4=4?<74F>DO E>EF>OF <7 M?5>FD>==>7> 5?>>4 G?D46?5=<O, 5?>>4 
GEF4=>6>< E5=E>D>6, 4<E??5O (<>=>ED><=O= <?< F65F=>=), >>D?GE4 < M?5<5=F>6 ?<F4=<O. 

$G=>F<>=4?L=> ?5D5=>E=O5 747>4=4?<74F>DO >55E?5G<64NF:  
3 =5?D5DO6=>5 <7<5D5=<5 747>6, E >F>5D465=<5< ?>?GG5==OE 7=4G5=<= =4 4<E??55; 
3 4<DDG7<>==O= <?< ?D<=G4<F5?L=O= 745>D ?D>5O, E> 6EFD>5==O< ?<5> 

?>4>?NG45<O< =4E>E><; 

3 46F><4F<G5E>GN ?<5> ?D<=G4<F5?L=GN GEF4=>6>G =G?O; 
3 E4<>4<47=>EF<>G ?D< 6>?NG5=<< < 6> 6D5<O D45>FO; 
3 74?<EL E>5OF<= < <7<5D5==OE 7=4G5=<= 6> 6=GFD5==NN ?4<OFL E E>ED4=5=<5<; 
3 <=4<>4F<N =5<E?D46=>EF5=/>L<5>>/74DO44 54F4D5<; 
3 DG=>F<N GEF4=>6>< 74M<FO >F 6O>?NG5=<O;  
3 6O44GG E65F>6>=, 76G>>6>= < 6<5D>E<7=4?<74F<< ?D< 4>EF<65=<< 

?D54GEF4=>6?5==OE «��$����» ED454FO64=<O. 
�5D5=>E=O5 747>4=4?<74F>DO <<5NF ?D>6>4=>= <=F5DD5=E USB, �� ?>DF < 

55E?D>6>4=>= <>4G?L ?5D544G< 44==OE (G4EF>F4 2,4 �� <?< 868 ��F ?> ?D>F>>>?4< MXair, 
LoRaWAN, LoRa, E-WIRE (>?F<>=4?L=>)), Bluetooth (>?F<>=4?L=>); <>4G?L >?D545?5=<O 
<5EF>?>?>65=<O (GPS, �����%% (>?F<>=4?L=>)). 

%F4F<>=4D=O5 747>4=4?<74F>DO E>EF>OF <7 <7<5D<F5?L=>7> <>4G?O, M?5>FD>==>7> 
<>4G?O, >>D?GE4 < >DOL><. �7<5D<F5?L=O= <>4G?L <<55F 6 E>EF465 >4<=/464 <7 F<?>6 
E5=E>D>6 (��, &�, ��, -%, $�), >>F>DO5 <<5NF 6EFD>5==GN M=5D7>=5746<E<<GN ?4<OFL, 
ED4=OMGN 7D44G<D>6>G=O5 E4D4>F5D<EF<><, =4<<5=>64=<5 <7<5DO5<>7> >><?>=5=F4, 
4<4?47>= <7<5D5=<O. �O?>?=5=O 6 <5F4??<G5E>>< 4?N<<=<56>< >>D?GE5 E >DOL>>=, =4 
5>>>6>= ?>65DE=>EF< >>F>D>7> D4E?>?>65=O F5E=>?>7<G5E><5 >F65DEF<O 4?O ?>4>?NG5=<O 
6=5L=<E F5?5= < E65F>76G>>6OE >?>65M4F5?5=. &65F >>D4L<645<OE >>D?GE>6 >?D545?O5FEO 
?D< 74>475. 

$G=>F<>=4?L=> EF4F<>=4D=O5 747>4=4?<74F>DO >55E?5G<64NF:  
3 =5?D5DO6=>5 46F><4F<G5E>>5 <7<5D5=<5 >>=F5=FD4F<< 747>6 6 6>74GE5; 

3 ?D5>5D47>64=<5 <7<5DO5<>= >>=F5=FD4F<< 6 G=<D<F<D>64==O= F>>>6O= E<7=4? 
< 6O44GG <=D>D<4F<< ?> F<DD>6O< >4=4?4< E6O7< ?D>?>DF<>=4?L=> <7<5D5==O< 
7=4G5=<O<; 

3 6O44GG F>>>6>7> E<7=4?4 (4-20) <�, ?> ?D>F>>>?G HART, ?> <=F5DD5=EG RS-485 

(E ?D>F>>>?>< MODBUS) (>?F<>=4?L=>); 
3 >F>5D465=<5 ?>?GG5==OE 7=4G5=<= =4 4<E??55 ?<5> =4 6=5L=5< GEFD>=EF65; 

3 ?D>6>4=>= <=F5DD5=E USB, �� ?>DF < 55E?D>6>4=>= <>4G?L ?5D544G< 44==OE 
(G4EF>F4 2,4 �� <?< 868 ��F ?> ?D>F>>>?4< MXair, LoRaWAN, LoRa, E-WIRE 

�>4<D<>4F<O 
�E>55==>EF< 
>>=EFDG>F<< 

Ex 3 <4D><D>6>4 ?> 
��%& 31610.0-2014 

IP <4D><D>6>4 

��%& 14254-2015 

1 2 3 4 

����-�1 

�5D5=>E=O5 

0�E ia IIC T3 Ga X 

IP 67 
����-�2 

0�E da ia IIC T3 Ga X ����-�4 

����-�5 

����-&1 

%F4F<>=4D=O5  1�E db II% T4 Gb X IP 68 
����-&1� 

����-&2 

����-&1�%� 
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(>?F<>=4?L=>)), Bluetooth (>?F<>=4?L=>); <>4G?L >?D545?5=<O <5EF>?>?>65=<O (GPS, 
�����%% (>?F<>=4?L=>)); 

3 >>=FD>?L 74 ?D56OL5=<5< GEF4=>6?5==OE ?>D>7>6OE 7=4G5=<=, =5?D5DO6=GN 
E4<>4<47=>EF<>G 4??4D4F=>= G4EF< 747>4=4?<74F>D4; 

3 6O44GG E65F>6>=, 76G>>6>= < 6<5D>E<7=4?<74F<< ?D< 4>EF<65=<< 
?D54GEF4=>6?5==OE «��$����» ED454FO64=<O. 

3 E4<>4<47=>EF<>G ?D< 6>?NG5=<<. 

�47>4=4?<74F>DO <>7GF <E?>?L7>64FLEO 6 E>EF465 747>4=4?<F<G5E><E E<EF5< <?< 6 
>4G5EF65 E4<>EF>OF5?L=>7> <745?<O. 

�4=5E5=<5 7=4>4 ?>65D>< =4 >>D?GE =5 ?D54GE<>FD5=>. �46>4E>>= =><5D 6 6<45 
5G>65==>-F<DD>6>7> >5>7=4G5=<O =4=>E<FEO F<?>7D4DE><< <5F>4>< =4 <4D><D>6>G=GN 
F45?<G>G.  

�5M<= 6<4 747>4=4?<74F>D>6 ?D54EF46?5= =4 D<EG=>5 1. 

 

 
4) 747>4=4?<74F>D ����, 
<>4<D<>4F<O ����-�1 

 5) 747>4=4?<74F>D ����, 
<>4<D<>4F<O ����-�2 

 

 

 
 

6) 747>4=4?<74F>D ����, 
<>4<D<>4F<O ����-�4 

7) 747>4=4?<74F>D ����, 
<>4<D<>4F<O ����-�5 
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4) 747>4=4?<74F>D ����, 
<>4<D<>4F<O ����-&1 

 5) 747>4=4?<74F>D ����, 
<>4<D<>4F<O ����-&1� 

 
 

 

 
6) 747>4=4?<74F>D ����, 
<>4<D<>4F<O ����-&2 

 7) 747>4=4?<74F>D ����, 
<>4<D<>4F<O ����-&1�%� 

 

$<EG=>> 1 3 �5M<= 6<4 747>4=4?<74F>D>6  
 

�D>7D4<<=>5 >55E?5G5=<5 

�47>4=4?<74F>DO <<5NF 6EFD>5==>5 <5FD>?>7<G5E>< 7=4G<<>5 ?D>7D4<<=>5 
>55E?5G5=<5 (44?55 3 ��), D47D45>F4==>5 4?O D5L5=<O 7444G <7<5D5=<O E>45D64=<O 
>?D545?O5<>7> >><?>=5=F4 6 6>74GE5. 

'D>65=L 74M<FO �� >F =5?D54=4<5D5==OE < ?D54=4<5D5==OE <7<5=5=<= 
E>>F65FEF6G5F GD>6=N «6OE>><=» E>7?4E=> $ 50.2.077-2014. 

�5FD>?>7<G5E>< 7=4G<<4O G4EFL �� 747>4=4?<74F>D4< < <7<5D5==O5 44==O5 
4>EF4F>G=> 74M<M5=O E ?><>MLN E?5F<4?L=OE ED54EF6 74M<FO >F ?D54=4<5D5==OE 
<7<5=5=<=. 

�45=F<D<>4F<>==O5 44==O5 �� ?D<6545=O 6 F45?<F5 2. 
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&45?<F4 2 3 �45=F<D<>4F<>==O5 44==O5 �� 

�45=F<D<>4F<>==O5 44==O5 (?D<7=4><) �=4G5=<5 

1 2 

�45=F<D<>4F<>==>5 =4<<5=>64=<5 �� ���� 

�><5D 65DE<< (<45=F<D<>4F<>==O= =><5D) ��, =5 =<65 V1.0 

 

�5FD>?>7<G5E><5 < F5E=<G5E><5 E4D4>F5D<EF<>< 

 

&45?<F4 3 3 �5FD>?>7<G5E><5 E4D4>F5D<EF<>< E <=DD4>D4E=O< E5=E>D>< (��) 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= 

?>7D5L=>EF< 

1 2 3 4 

�5F4= CH4 

��E?-CH4-100 

>F 0 4> 4,4 % 

(>F 0 4> 100 % 
���$) 

±0,22 % 

(±5 % ���$) 

��E?-CH4-100& 

>F 0 4> 4,4 % 

(>F 0 4> 100 % 
���$) 

±0,22 % 

(±5 % ���$) 

��E?-CH4-50& 
>F 0 4> 2,2 % 

(>F 0 4> 50 % ���$) 
±0,13 % 

(±3 % ���$) 

��E?-CH4-50 
>F 0 4> 2,2 % 

(>F 0 4> 50 % ���$) 
±0,22 % 

(±5 % ���$) 
��E?-CH4-100 % >F 0 4> 100 % ±(0,1+0,049÷X) % 

��E?-CH4-7000 >F 0 4> 7000 <7/<3 

>F 0 4> 500 <7/<3 

6>?NG. ±50 <7/<3 

E6.500 4> 7000 <7/<3 

± (0,152·X 3 15,6) 

%G<<4 
G7?56>4>D>4>6 

%2-%10 (?>65D>G=O= 
>><?>=5=F <5F4=) 

��E?-C2C10CH4-

100 

>F 0 4> 4,4 % 

(>F 0 4> 
100 % ���$) 

±0,22 % 

(±5 % ���$) 

��E?-C2C10CH4-

50 

>F 0 4> 2,2 % 

(>F 0 4> 50 % ���$) 
±0,22 % 

(±5 % ���$) 

��E?- C2C10CH4-

3000 
>F 0 4> 3000 <7/<3 

>F 0 4> 500 <7/<3 

6>?NG. ±50 <7/<3 

E6.500 4> 3000 <7/<3 

± (0,152·X 3 15,6) 

%G<<4 
G7?56>4>D>4>6 

%2-%10 (?>65D>G=O= 
>><?>=5=F ?D>?4=) 

��E?-

C2C10C3H8-100 

>F 0 4> 1,7 % 

(>F 0 4> 
100 % ���$) 

±0,085 % 

(±5 % ���$) 

��E?- 

C2C10C3H8-50 

>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,085 % 

(±5 % ���$) 

��E?- 

C2C10C3H8-3000 
>F 0 4> 3000 <7/<3 

>F 0 4> 500 <7/<3 

6>?NG. ±50 <7/<3 

E6.500 4> 3000 <7/<3 

± (0,152·X - 15,6) 



�<EF 7 6 

�E57> ?<EF>6 47 

 

�D>4>?65=<5 F45?<FO 3 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= 

?>7D5L=>EF< 

1 2 3 4 

-F<?5= C2H4 

��E?-C2H4-100 

>F 0 4> 2,3 % 

(>F 0 4> 100 % 
���$) 

±0,12 % 

(±5 % ���$) 

��E?-C2H4-50 
0 4> 1,15 % 

(>F 0 4> 50 % ���$) 
±0,12 % 

(±5 % ���$) 

�D>?4= C3H8 

��E?-C3H8-100 
0 4> 1,7 % 

(>F 0 4> 100 %���$) 
±0,085 % 

(±5 % ���$) 

��E?-C3H8-50& 
>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,051 % 

(±3 % ���$) 

��E?-C3H8-50 
>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,085 % 

(±5 % ���$) 
��E?-C3H8- 

100 % 
>F 0 4> 100 % ±(0,1+0,049;X) % 

��E?-C3H8-7000 >F 0 4> 7000 <7/<3 

>F 0 4> 500 <7/<3 

6>?NG. ±50 <7/<3 

E6.500 4> 7000 <7/<3 

± (0,152·X - 15,6) 

=-5GF4= C4H10 

��E?-C4H10-100 
>F 0 4> 1,4 % 

(>F 0 4> 100 %���$) 
±0,07 % 

(±5 % ���$) 

��E?-C4H10-50 
>F 0 4> 0,7 % 

(>F 0 4> 50 % ���$) 
±0,07 % 

(±5 % ���$) 

1-5GF5= C4H8 

��E?-C4H8-100 
>F 0 4> 1,6 % 

(>F 0 4> 100 %���$) 
±0,08 % 

(±5 % ���$) 

��E?-C4H8-50 
>F 0 4> 0,8 % 

(>F 0 4> 50 % ���$) 
±0,08 % 

(±5 % ���$) 

2-<5F<??D>?4= 
(<7>5GF4=) i-C4H10 

��E?-i- 

C4H10-100 

>F 0 4> 1,30 % 

(>F 0 4> 100 %���$) 
±0,065 % 

(±5 % ���$) 

��E?-i-C4H10-50 
>F 0 4> 0,65 % 

(>F 0 4> 50 % ���$) 
±0,065 % 

(±5 % ���$) 

=-?5=F4= C5H12 

��E?-C5H12-100 
>F 0 4> 1,1 % 

(>F 0 4> 100 %���$) 
±0,055 % 

(±5 % ���$) 

��E?-C5H12-50 
>F 0 4> 0,55 % 

(>F 0 4> 50 % ���$) 
±0,055 % 

(±5 % ���$) 

&<>?>?5=F4= %5�10 

��E?-%5�10-100 
>F 0 4> 1,4 % 

(>F 0 4>100 % ���$) 
±0,07 % 

(±5 % ���$) 

��E?-%5�10-50 
>F 0 4> 0,7 % 

(>F 0 4> 50 % ���$) 
±0,07 % 

(±5 % ���$) 

=-75>E4= C6H14 

��E?-C6H14-100 
>F 0 4> 1,0 % 

(>F 0 4> 100 %���$) 
±0,05 % 

(±5 % ���$) 

��E?-C6H14-50 
>F 0 4> 0,5 % 

(>F 0 4> 50 % ���$) 
±0,05 % 

(±5 % ���$) 
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�D>4>?65=<5 F45?<FO 3 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= 

?>7D5L=>EF< 

1 2 3 4 

&<>?>75>E4= %6�12 

��E?-%6�12-100 
>F 0 4> 1,0 % 

(>F 0 4> 100 %���$) 
±0,05 % 

(±5 % ���$) 

��E?-%6�12-50 
>F 0 4> 0,5 % 

(>F 0 4> 50 % ���$) 
±0,05 % 

(±5 % ���$) 

-F4= C2H6 

��E?-C2H6-100 

>F 0 4> 2,4 % 

(>F 0 4> 100 % 
���$) 

±0,12 % 

(±5 % ���$) 

��E?-C2H6-50 
>F 0 4> 1,2 % 

(>F 0 4> 50 % ���$) 
±0,12 % 

(±5 % ���$) 

��E?-C2H6-100 

>F 0 4> 2,4 % 

(>F 0 4> 100 % 
���$) 

±0,12 % 

(±5 % ���$) 

��E?-C2H6-50 
>F 0 4> 1,2 % 

(>F 0 4> 50 % ���$) 
±0,12 % 

(±5 % ���$) 
�4DO 

=5DF5?D>4G>F>6 
��E?-CH-��-50 >F 0 4> 50 % ���$ ±5 % ���$ 

�5F4=>? %�3OH ��E?-%�3OH-50 
>F 0 4> 3,0 % 

(>F 0 4> 50 % ���$) 
±0,3 % 

(±5 % ���$) 

�5=7>? %6�6 

��E?-%6�6-100 
>F 0 4> 1,2 % 

(>F 0 4>100 % ���$) 
±0,06 % 

(±5 % ���$) 

��E?-%6�6-50 
>F 0 4> 0,6 % 

(>F 0 4> 50 % ���$) 
±0,06 % 

(±5 % ���$) 

�D>?<?5= (?D>?5=) 
C3H6 

��E?-%3�6-100 
>F 0 4> 2,0 % 

(>F 0 4>100 % ���$) 
±0,1 % 

(±5 % ���$) 

��E?-%3�6-50 
>F 0 4> 1,0 % 

(>F 0 4> 50 % ���$) 
±0,1 % 

(±5 % ���$) 

-F4=>? %2�5�� 
��E?- 

%2�5��-50 

>F 0 4> 1,55% 

(>F 0 4> 50% ���$) 
±0,16 % 

(±5 % ���$) 

=-75?F4= %7�16 

��E?-%7�16-100 

>F 0 4> 0,85 % 

(>F 0 4> 
100 % ���$) 

± 0,078 % 

(±5 % ���$) 

��E?-%7�16-50 
>F 0 4> 0,425 % 

(>F 0 4> 50 % ���$) 
±0,042 % 

(±5 % ���$) 

�>E<4 MF<?5=4 
%2�4� 

��E?- 

%2�4�-100 

>F 0 4> 2,6 % 

(>F 0 4>100 % ���$) 
±0,13 % 

(±5 % ���$) 

��E?-%2�4�-50 
>F 0 4> 1,3 % 

(>F 0 4> 50 % ���$) 
±0,13 % 

(±5 % ���$) 

�<>>E<4 G7?5D>44 
%�2 

��E?-%�2-2,5 
>F 0 4> 0,5 % 6>?NG. ±0,05 % 

E6. 0,5 4> 2,5 % ±(0,1·X) % 

��E?-%�2-5 
>F 0 4> 2,5 % 6>?NG. ±0,25 % 

E6. 2,5 4> 5,0 % ±(0,1·X) % 
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�D>4>?65=<5 F45?<FO 3 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= 

?>7D5L=>EF< 

1 2 3 4 

2-?D>?4=>= (4F5F>=) 
C3H6O 

��E?-C3H6O-

50 

>F 0 4> 1,25 % 

(>F 0 4> 50 % ���$) 
±0,13 % 

(±5 % ���$) 

2-<5F<??D>?5= 
(<7>5GF<?5=) i-C4H8 

��E?-i- 

C4H8-100 

>F 0 4> 1,6 % 

(>F 0 4> 
100 % ���$) 

±0,08 % 

(±5 % ���$) 

��E?-i-C4H8-50 
>F 0 4> 0,8 % 

(>F 0 4> 50 % ���$) 
±0,08 % 

(±5 % ���$) 

2-<5F<?-1,3-5GF44<5= 
(<7>?D5=) C5H8 

��E?-C5H8-100 

>F 0 4> 1,7 % 

(>F 0 4> 
100 % ���$) 

±0,085 % 

(±5 % ���$) 

��E?-C5H8-50 
>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,085 % 

(±5 % ���$) 

�F5F<?5= %2�2 

��E?-%2�2-100 

>F 0 4> 2,30 % 

(>F 0 4> 
100 % ���$) 

±0,12 % 

(±5 % ���$) 

��E?-%2�2-50 
>F 0 4> 1,15 % 

(>F 0 4> 50 % ���$) 
±0,12 % 

(±5 % ���$) 
�>D<?>=<FD<? 

C3H3N 
��E?-C3H3N-50 

>F 0 4> 1,4 % 

(>F 0 4> 50 % ���$) 
±0,14 % 

(±5 % ���$) 

�5F<?55=7>? 
(F>?G>?) %7�8 

��E?-%7�8-100 

>F 0 4> 1,0 % 

(>F 0 4> 
100 % ���$) 

±0,05 % 

(±5 % ���$) 

��E?-%7�8-50 
>F 0 4> 0,5 % 

(>F 0 4> 50 % ���$) 
±0,05 % 

(±5 % ���$) 

-F<?55=7>? %8�10 

��E?- %8�10-

37,5T 

>F 0 4> 0,3 % 

(>F 0 4> 
37,5 % ���$) 

±0,024 % 

(±3 % ���$) 

��E?- %8�10-50 
>F 0 4> 0,4 % 

(>F 0 4> 50 % ���$) 
±0,03% 

(±3 % ���$) 

=->>F4= %8�18 ��E?-%8�18-50 
>F 0 4> 0,4 % 

(>F 0 4> 50 % ���$) 
±0,04 % 

(±5 % ���$) 

-F<?4F5F4F %4�8�2 
��E?- 

%4�8�2-50 

>F 0 4> 1,0 % 

(>F 0 4> 50 % ���$) 
±0,1 % 

(±5 % ���$) 

�GF<?4F5F4F %6�12�2 

��E?- 

%6�12�2-25T 

>F 0 4> 0,3 % 

(>F 0 4> 25 % ���$) 
±0,036 % 

(±3 % ���$) 
��E?-%6�12�2-

50 

>F 0 4> 0,6 % 

(>F 0 4> 50 % ���$) 
±0,06 % 

(±5 % ���$) 
1,3-5GF44<5= 

(4<6<=<?) %4�6 
��E?-%4�6-50 

>F 0 4> 0,7 % 

(>F 0 4> 50 % ���$) 
±0,07 % 

(±5 % ���$) 
  



�<EF 7 9 

�E57> ?<EF>6 47 

 

�D>4>?65=<5 F45?<FO 3 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= 

?>7D5L=>EF< 

1 2 3 4 

1,2-4<E?>DMF4= 
%2�4Cl2 

��E?- 

%2�4Cl2-50 

>F 0 4> 3,1 % 

(>F 0 4> 50 % ���$) 
±0,31 % 

(±5 % ���$) 
�<<5F<?EG?LD<4 

C2H6S 
��E?-C2H6S-50 

>F 0 4> 1,1 % 

(>F 0 4> 50 % ���$) 
±0,11 % 

(±5 % ���$) 

1-75>E5= %6�12 ��E?-%6�12-50 
>F 0 4> 0,6 % 

(>F 0 4> 50 % ���$) 
±0,06 % 

(±5 % ���$) 
2-5GF4=>? 

(6F>D-5GF4=>?) 
s-%-C4H9OH 

��E?-s-%-

%4�9��-31,2T 

>F 0 4> 0,5 % 

(>F 0 4> 

31,2 % ���$) 

±0,051 % 

(±3 % ���$) 

�<=<?E?>D<4 %2�3Cl ��E?-%2�3Cl-50 
>F 0 4> 1,8 % 

(>F 0 4> 50 % ���$) 
±0,18 % 

(±5 % ���$) 

&<>?>?D>?4=  
%3�6 

��E?-%3�6-100 
>F 0 4> 2,4 % 

(>F 0 4>100 % ���$) 
±0,12 % 

(±5 % ���$) 

��E?-%3�6-50 
>F 0 4> 1,2 % 

(>F 0 4> 50 % ���$) 
±0,12 % 

(±5 % ���$) 
�<<5F<?>6O= MD<D 

%2�6� 
��E?-%2�6�-50 

>F 0 4> 1,35 % 

(>F 0 4> 50 % ���$) 
±0,14 % 

(±5 % ���$) 
�<MF<?>6O= MD<D 

%4�10� 
��E?-%4�10�-50 

>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,085 % 

(±5 % ���$) 
�>E<4 ?D>?<?5=4 

%3�6� 
��E?-%3�6�-50 

>F 0 4> 0,95 % 

(>F 0 4> 50 % ���$) 
±0,095 % 

(±5 % ���$) 

%?>D55=7>? C6H5Cl 
��E?-%6�5Cl-

38,4T 

>F 0 4> 0,5 % 

(>F 0 4> 
38,4 % ���$) 

±0,039 % 

(±3 % ���$) 

2-5GF4=>= 
(<5F<?MF<?>5F>=) 

C4H8O 

��E?-%4�8�-50 
>F 0 4> 0,75 % 

(>F 0 4> 50 % ���$) 
±0,075 % 

(±5 % ���$) 

2-<5F<?-2-?D>?4=>? 
(FD5F-5GF4=>?) tert-

%4�9�H 

��E?-tert-

%4�9�H-50 

>F 0 4> 1,15 % 

(>F 0 4> 50 % ���$) 
±0,12 % 

(±5 % ���$) 

2-<5F>>E<-2-

<5F<??D>?4= 
(<5F<?FD5F5GF<?>6O
= MD<D) tert-%5�12� 

��E?-tert-

%5�12�-50 

>F 0 4> 0,8 % 

(>F 0 4> 50 % ���$) 
±0,08 % 

(±5 % ���$) 

1,4-4<<5F<?55=7>? 
(?->E<?>?) p-%8�10 

��E?-p-%8�10-

22,2T 

>F 0 4> 0,2 % 

(>F 0 4> 
22,2 % ���$) 

±0,027 % 

(±3 % ���$) 

1,2-4<<5F<?55=7>? 
(>->E<?>?) o-%8�10 

��E?-o-%8�10-

20T 

>F 0 4> 0,2 % 

(>F 0 4> 20 % ���$) 
±0,03 % 

(±3 % ���$) 
2-?D>?4=>? 

(<7>?D>?4=>?) 
i-%3�7�� 

��E?-i-%3�7�H-

50 

>F 0 4> 1,0 % 

(>F 0 4> 50 % ���$) 
±0,1 % 

(±5 % ���$) 
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�>>=G4=<5 F45?<FO 3 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= 

?>7D5L=>EF< 

1 2 3 4 

�>F5= %8�16 
��E?-%8�16-

33,3T 

>F 0 4> 0,3 % 

(>F 0 4> 
33,3 % ���$) 

±0,027 % 

(±3 % ���$) 

2-<5F<?5GF4= 
(<7>?5=F4=) i-%5�12 

��E?-i-%5�12-50 
>F 0 4> 0,65 % 

(>F 0 4> 50 % ���$) 
±0,065 % 

(±5 % ���$) 
�5F4=F<>? 

(<5F<?<5D>4?F4=) 
%�3SH 

��E?-%�3SH-50 
>F 0 4> 2,05 % 

(>F 0 4> 50 % ���$) 
±0,21 % 

(±5 % ���$) 

-F4=F<>? 
(MF<?<5D>4?F4=) 

%2�5SH 

��E?- 

%2�5SH-50 

>F 0 4> 1,4 % 

(>F 0 4> 50 % ���$) 
±0,14 % 

(±5 % ���$) 

�F5F>=<FD<? %2�3N ��E?-%2�3N-50 
>F 0 4> 1,5 % 

(>F 0 4> 50 % ���$) 
±0,15 % 

(±5 % ���$) 
�<<5F<?4<EG?LD<4 

%2�6S2 
��E?-%2�6S2-50 

>F 0 4> 0,55 % 

(>F 0 4> 50 % ���$) 
±0,055 % 

(±5 % ���$) 

�5=7<=4)5) 
��E?-CH- 

�� -50 
>F 0 4> 50 % ���$ ±5 % ���$ 

�<75?L=>5 
F>??<6>4)6) 

��E?-CH- 

�� -50 
>F 0 4> 50 % ���$ ±5 % ���$ 

�5D>E<=4)7) 
��E?-CH- 

�� -50 
>F 0 4> 50 % ���$ ±5 % ���$ 

'4=F-E?<D<F4)8) 
��E?-CH- 

�� -50 
>F 0 4> 50 % ���$ ±5 % ���$ 

1) 3 ?D< >>=FD>?5 >><?>=5=F>6, G>474==OE 6 $G>>6>4EF65 ?> M>E??G4F4F<<, => 
=5 ?D<654U==OE 6 F45?<F5, 747>4=4?<74F>DO ?D<<5=ONFEO 4?O >?D545?5=<O E>45D64=<O 
>><?>=5=F>6 ?> <5F>4<>4< <7<5D5=<= (��), D47D45>F4==O< < 4FF5EF>64==O< 6 
E>>F65FEF6<< E ��%& $ 8.563-2009; 

2) 3 4<4?47>=O <7<5D5=<= >>=>D5F=OE 747>4=4?<74F>D>6 <>6=> <7<5=OFL 6=GFD< 
G>474==OE 6 F45?<F5 4<4?47>=>6. �<4?47>= ?>>474=<= 6OE>4=OE E<7=4?>6 E>>F65FEF6G5F 
4<4?47>=G >F 0 4> 100 % ���$ <?< 4<4?47>=G <7<5D5=<=; 

3) 3 7=4G5=<O ���$ 4?O 7>DNG<E 747>6 < ?4D>6 6 E>>F65FEF6<< E  
��%& $ �-� 31610.20-1-2020; 

4) 3 ?4DO =5DF5?D>4G>F>6 O6?ONFEO E<5ELN G7?56>4>D>4>6, ?>MF><G 
>4?<5DGNFEO ?> >>=>D5F=>= <4D>5 F>??<64, E G>474=<5< <4D>< 6 ?4E?>DF5 =4 ?D<5>D; 

5) 3 ?4DO 55=7<=4 ?> ��%& 1012-2013, ��%& $ 51866-2002; 

6) 3 ?4DO 4<75?L=>7> F>??<64 ?> ��%& 305-2013, ��%& 32511-2013,  

��%& 52368-2005; 

7) 3 ?4DO >5D>E<=4 ?> &' 38.401-58-8-90, �%& 38 01408-86; 

8) 3 G4=F-E?<D<F ?> ��%& $ 52368-2005; 

X 3 E>45D64=<5 >?D545?O5<>7> >><?>=5=F4 6 ?>65D>G=>= 747>6>= E<5E<, % (<7/<3). 
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&45?<F4 4 3 �5FD>?>7<G5E><5 E4D4>F5D<EF<>< E <=DD4>D4E=O< E5=E>D>< (��) 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 
4>?<, <?=-1 

<4EE>6>= 
>>=F5=FD4F<3), 

<7/<3 

?D<654
5==>= 
> ��� 

>F=>E<F
5?L=>= 

1 2 3 4 5 6 

1,1,1,2-

F5FD4DF>DMF4= 
C2H2F4 (R134a) 

��E?-R1344-

1000 

>F 0 4> 100 
6>?NG. 

>F 0 4> 424 
6>?NG. ±20 - 

E6. 100 4> 
1000 

E6. 424 4> 4240 - ±20 

��E?-R1344-

2000 

>F 0 4> 100 
6>?NG. 

>F 0 4> 424 
6>?NG. ±20 - 

E6. 100 4> 
2000 

E6. 424 4> 8480 - ±20 

�5=F4DF>DMF4= 
C2HF5 (R125) 

��E?-R125-

1000 

>F 0 4> 100 
6>?NG. 

>F 0 4> 499 
6>?NG. ±20 - 

E6. 100 4> 
1000 

E6. 499 4> 4990 - ±20 

��E?-R125-

2000 

>F 0 4> 100 
6>?NG. 

>F 0 4> 499 
6>?NG. ±20 - 

E6. 100 4> 
2000 

E6. 499 4> 9980 - ±20 

%?>D4<DF>D- 

<5F4= 
CHClF2(R22) 

��E?-R22-1000 

>F 0 4> 100 
6>?NG. 

>F 0 4> 360 
6>?NG. ±20 - 

E6. 100 4> 
1000 

E6. 360 4> 3600 - ±20 

��E?-R22-2000 

>F 0 4> 100 
6>?NG. 

>F 0 4> 360 
6>?NG. ±20 - 

E6. 100 4> 
2000 

E6. 360 4> 7200 - ±20 

1,2,2-

FD<E?>DFD<DF>D
MF4= 

C2Cl3F3(R113a) 

��E?-R1134-

1000 

>F 0 4> 100 
6>?NG. 

>F 0 4> 779 
6>?NG. ±20 - 

E6. 100 4> 
1000 

E6. 779 4> 7790 - ±20 

��E?-R1134- 

2000 

>F 0 4> 100 
6>?NG. 

>F 0 4> 779 
6>?NG. ±20 - 

E6. 100 4> 
2000 

E6. 779 4> 
15580 

- ±20 

�<E?>D4<-

DF>D<5F4= 
%Cl2F2(R12) 

��E?-R12-100 

>F 0 4> 50 
6>?NG. 

>F 0 4> 251 
6>?NG. ±20 - 

E6. 50 4> 100 E6. 251 4> 503 - ±20 
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�>>=G4=<5 F45?<FO 4 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 
4>?<, <?=-1 

<4EE>6>= 
>>=F5=FD4F<3), 

<7/<3 

?D<654
5==>= 
> ��� 

>F=>E<F
5?L=>= 

1 2 3 4 5 6 
_______________________ 

1) 3 ?D< >>=FD>?5 6 6>74GE5 D45>G5= 7>=O >><?>=5=F>6, G>474==OE 6 $G>>6>4EF65 
?> M>E??G4F4F<<, => =5 ?D<6545==OE 6 F45?<F5, 747>4=4?<74F>DO ?D<<5=ONFEO 6 >4G5EF65 
<=4<>4F>D>6 4?O ?D5464D<F5?L=>= >F5=>< E>45D64=<O >><?>=5=F>6 E ?>E?54GNM<< 
4=4?<7>< ?> <5F>4<>4< (<5F>44<) <7<5D5=<= (��), D47D45>F4==O< < 4FF5EF>64==O< 6 
E>>F65FEF6<< E ��%& $ 8.563-2009; 

2) 3 4<4?47>= ?>>474=<= 6OE>4=OE E<7=4?>6 E>>F65FEF6G5F 4<4?47>=G <7<5D5=<=. 
� 746<E<<>EF< >F 74>474 4<4?47>= ?>>474=<= <>65F 5OFL <7<5=5=, >4> ?D< ?D><76>4EF65, 
F4> < ?>?L7>64F5?5< ?D< ?><>M< ?D>7D4<<=>7> >55E?5G5=<O (?>EF46?O5FEO ?> 74>47G). 
�<4?47>= ?>>474=<= =5 <>65F 5OFL <5=LL5 4<4?47>=4 <7<5D5=<=; 

3) 3 �5D5EG5F 7=4G5=<= >5N5<=>= 4>?< %, <?=-1, 6 <4EE>6GN >>=F5=FD4F<N %, <7/<3, 

?D>6>4OF ?> D>D<G?5: %=%·�/Vm, 745 % 3 <4EE>64O >>=F5=FD4F<O >><?>=5=F4, <7/<3; M 

3 <>?OD=4O <4EE4 >><?>=5=F4, 7/<>?L; Vm 3 <>?OD=O= >5N5< 7474-D47546<F5?O - 6>74GE4, 
D46=O= 24,06, ?D< GE?>6<OE (20 °% < 101,3 >�4 ?> ��%& 12.1.005-88), 4<3/<>?L 

 

&45?<F4 5 3 �5FD>?>7<G5E><5 E4D4>F5D<EF<>< E F5D<>>4F4?<F<G5E><< E5=E>D>< (&�) 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= 

?>7D5L=>EF< 

1 2 3 4 

�5F4= CH4 

&�E?-CH4-50& 
>F 0 4> 2,2 % 

(>F 0 4> 50 % ���$) 
±0,13 % 

(±3 % ���$) 

&�E?-CH4-50 
>F 0 4> 2,2 % 

(>F 0 4> 50 % ���$) 
±0,22 % 

(±5 % ���$) 

&�E?-CH4-

7000 
>F 0 4> 7000 <7/<3 

>F 0 4> 500 <7/<3 

6>?NG. ±50 <7/<3 

E6.500 4> 7000 <7/<3 

± (0,152·X - 15,6) 

-F<?5= C2H4 

&�E? -C2H4-

50& 

>F 0 4> 1,15 % 

(>F 0 4> 50 % ���$) 
±0,069 % 

(±3 % ���$) 

&�E?-C2H4-50 
>F 0 4> 1,15 % 

(>F 0 4> 50 % ���$) 
±0,12 % 

(±5 % ���$) 
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�D>4>?65=<5 F45?<FO 5 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= 

?>7D5L=>EF< 

1 2 3 4 

�D>?4= C3H8 

&�E? -C3H8-

50& 

>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,051 % 

(±3 % ���$) 

&�E? -C3H8-50 
>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,085 % 

(±5 % ���$) 

&�E?- C3H8-

7000 
>F 0 4> 7000 <7/<3 

>F 0 4> 500 <7/<3 

6>?NG. ±50 <7/<3 

E6.500 4> 7000<7/<3 

± (0,152·X - 15,6) 

=-5GF4= C4H10 

&�E? -C4H10-

50& 

>F 0 4> 0,7 % 

(>F 0 4> 50 % ���$) 
±0,042 % 

(±3 % ���$) 
&�E? -C4H10-

50 

>F 0 4> 0,7 % 

(>F 0 4> 50 % ���$) 
±0,07 % 

(±5 % ���$) 

1-5GF5= C4H8 

&�E? -C4H8-

50& 

>F 0 4> 0,8 % 

(>F 0 4> 50 % ���$) 
±0,048 % 

(±3 % ���$) 

&�E? -C4H8-50 
>F 0 4> 0,8 % 

(>F 0 4> 50 % ���$) 
±0,08 % 

(±5 % ���$) 

2-<5F<??D>?4= 
(<7>5GF4=) i-C4H10 

&�E? -i-C4H10-

50& 

>F 0 4> 0,65 % 

(>F 0 4> 50 % ���$) 
±0,039 % 

(±3 % ���$) 
&�%� -i-C4H10-

50 

>F 0 4> 0,65 % 

(>F 0 4> 50 % ���$) 
±0,065 % 

(±5 % ���$) 

=-?5=F4= C5H12 

&�E? 3 

C5H12-50& 

>F 0 4> 0,55 % 

(>F 0 4> 50 % ���$) 
±0,033 % 

(±3 % ���$) 
&�E? -C5H12-

50 

>F 0 4>0,55 % 

(>F 0 4> 50 % ���$) 
±0,055 % 

(±5 % ���$) 

&<>?>?5=F4= %5�10 

&�E? - 

%5�10-50& 

>F 0 4> 0,7 % 

(>F 0 4> 50 % ���$) 
±0,042 % 

(±3 % ���$) 
&�E? - 

%5�10-50 

>F 0 4> 0,7 % 

(>F 0 4> 50 % ���$) 
±0,07 % 

(±5 % ���$) 

=-75>E4= C6H14 

&�E? - 

C6H14-50& 

>F 0 4> 0,5 % 

(>F 0 4> 50 % ���$) 
±0,03 % 

(±3 % ���$) 
&�E? - 

C6H14-50 

>F 0 4> 0,5 % 

(>F 0 4> 50 % ���$) 
±0,05 % 

(±5 % ���$) 

&<>?>75>E4= %6�12 

&�E? - 
%6�12-50& 

>F 0 4> 0,5 % 

(>F 0 4> 50 % ���$) 
±0,03 % 

(±3 % ���$) 
&�E? - 

%6�12-50 

>F 0 4> 0,5 % 

(>F 0 4> 50 % ���$) 
±0,05 % 

(±5 % ���$) 

-F4= C2H6 

&�E? - 
C2H6-50& 

>F 0 4> 1,2 % 

(>F 0 4> 50 % ���$) 
±0,072 % 

(±3 % ���$) 
&�E? - 

C2H6-50 

>F 0 4> 1,2 % 

(>F 0 4> 50 % ���$) 
±0,12 % 

(±5 % ���$) 
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�D>4>?65=<5 F45?<FO 5 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= 

?>7D5L=>EF< 

1 2 3 4 

�5F4=>? %�3OH 

&�E? -%�3OH-

50& 

>F 0 4> 3,0 % 

(>F 0 4> 50 % ���$) 
±0,18 % 

(±3 % ���$) 

&�E?- 

%�3OH-50 

>F 0 4> 3,0 % 

(>F 0 4> 50 % ���$) 
±0,3 % 

(±5 % ���$) 

�5=7>? %6�6 

&�E? -%6�6-

50& 

>F 0 4> 0,6 % 

(>F 0 4> 50 % ���$) 
±0,036 % 

(±3 % ���$) 

&�E? -%6�6-50 
>F 0 4> 0,6 % 

(>F 0 4> 50 % ���$) 
±0,06 % 

(±5 % ���$) 

�D>?<?5= (?D>?5=) 
C3H6 

&�E? -%3�6-

50& 

>F 0 4> 1,0 % 

(>F 0 4> 50 % ���$) 
±0,06 % 

(±3 % ���$) 

&�E? -%3�6-50 
>F 0 4> 1,0 % 

(>F 0 4> 50 % ���$) 
±0,1 % 

(±5 % ���$) 

-F4=>? %2�5�� 

&�E? -

%2�5��-50& 

>F 0 4> 1,55 % 

(>F 0 4> 48,3 % ���$) 
± 0,093 % 

(±3 % ���$) 
&�E? -

%2�5��-50 

>F 0 4> 1,55 % 

(>F 0 4> 48,3 % ���$) 
±0,16 % 

(±5 % ���$) 

=-75?F4= %7�16 

&�E? 3 

%7�16-50& 

>F 0 4> 0,425 % 

(>F 0 4> 50 % ���$) 
±0,025 % 

(±3 % ���$) 
&�E? 3 

%7�16-50 

>F 0 4> 0,425 % 

(>F 0 4> 50 % ���$) 
±0,042 % 

(±5 % ���$) 

�>E<4 MF<?5=4 
%2�4� 

&�E? 3 

%2�4�-50& 

>F 0 4> 1,3 % 

(>F 0 4> 50 % ���$) 
±0,078 % 

(±3 % ���$) 
&�E? 3 

%2�4�-50 

>F 0 4> 1,3 % 

(>F 0 4> 50 % ���$) 
±0,13 % 

(±5 % ���$) 

2-?D>?4=>= 
(4F5F>=) C3H6O 

&�E? 3 

C3H6O-50& 

>F 0 4> 1,25 % 

(>F 0 4> 50 % ���$) 
±0,075 % 

(±3 % ���$) 
&�E? 3 

C3H6O-50 

>F 0 4> 1,25 % 

(>F 0 4> 50 % ���$) 
±0,13 % 

(±5 % ���$) 

�>4>D>4 �2 

&�E? -�2-50& 
>F 0 4> 2,0 % 

(>F 0 4> 50 % ���$) 
±0,12 % 

(±3 % ���$) 

&�E? -�2-50 
>F 0 4> 2,0 % 

(>F 0 4> 50 % ���$) 
±0,2 % 

(±5 % ���$) 

2-<5F<??D>?5= 
(<7>5GF<?5=)  

i-C4H8 

&�E? -i- 

C4H8-50& 

>F 0 4> 0,8 % 

(>F 0 4> 50 % ���$) 
±0,048 % 

(±3 % ���$) 
&�E? -i- 

C4H8-50 

>F 0 4> 0,8 % 

(>F 0 4> 50 % ���$) 
±0,08 % 

(±5 % ���$) 
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�D>4>?65=<5 F45?<FO 5 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= 

?>7D5L=>EF< 

1 2 3 4 

2-<5F<?-1,3-

5GF44<5=  
(<7>?D5=) C5H8 

&�E? - 

C5H8-50& 

>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,051 % 

(±3 % ���$) 
&�E? - 

C5H8-50 

>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,085 % 

(±5 % ���$) 

�F5F<?5=  
%2�2 

&�E? - 

%2�2-50& 

>F 0 4> 1,15 % 

(>F 0 4> 50 % ���$) 
±0,069 % 

(±3 % ���$) 
&�E? - 

%2�2-50 

>F 0 4> 1,15 % 

(>F 0 4> 50 % ���$) 
±0,12 % 

(±5 % ���$) 

�>D<?>=<FD<? 
C3H3N 

&�E? - 

C3H3N-50& 

>F 0 4> 1,4 % 

(>F 0 4> 50 % ���$) 
±0,084 % 

(±3 % ���$) 
&�E? - 

C3H3N-50 

>F 0 4> 1,4 % 

(>F 0 4> 50 % ���$) 
±0,14 % 

(±5 % ���$) 

�5F<?55=7>? 
(F>?G>?) %7�8 

&�E? - 

%7�8-50& 

>F 0 4> 0,5 % 

(>F 0 4> 50 % ���$) 
±0,03 % 

(±3 % ���$) 
&�E? - 

%7�8-50 

>F 0 4> 0,5 % 

(>F 0 4> 50 % ���$) 
±0,05 % 

(±5 % ���$) 

-F<?55=7>? %8�10 
&�E? - 

%8�10-37,5T 

>F 0 4> 0,3 % 

(>F 0 4> 37,5 % ���$) 
±0,024 % 

(±3 % ���$) 

=->>F4= 

 %8�18 

&�E? -%8�18-

50& 

>F 0 4> 0,4 % 

(>F 0 4> 50 % ���$) 
±0,024 % 

(±3 % ���$) 

&�E? -%8�18-

50 

>F 0 4> 0,4 % 

(>F 0 4> 50 % ���$) 
±0,04 % 

(±5 % ���$) 

-F<?4F5F4F  
%4�8�2 

&�E? -%4�8�2-

50& 

>F 0 4> 1,0 % 

(>F 0 4> 50 % ���$) 
±0,06 % 

(±3 % ���$) 
&�E? -%4�8�2-

50 

>F 0 4> 1,0 % 

(>F 0 4> 50 % ���$) 
±0,1 % 

(±5 % ���$) 

�5F<?4F5F4F 
%3�6�2 

&�E? -%3�6�2-

50& 

>F 0 4> 1,55 % 

(>F 0 4> 50 % ���$) 
±0,093 % 

(±3 % ���$) 
&�E? -%3�6�2-

50 

>F 0 4> 1,55 % 

(>F 0 4> 50 % ���$) 
±0,16 % 

(±5 % ���$) 

�GF<?4F5F4F 
%6�12�2 

&�E? -

%6�12�2-25T 

>F 0 4> 0,3 % 

(>F 0 4> 25 % ���$) 
±0,036 % 

(±3 % ���$) 
&�E? -%3�6�2-

50& 

>F 0 4> 0,7 % 

(>F 0 4> 50 % ���$) 
±0,042 % 

(±3 % ���$) 

1,3-5GF44<5= 
(4<6<=<?) %4�6 

&�E? -%4�6-

50& 

>F 0 4> 0,7 % 

(>F 0 4> 50 % ���$) 
±0,042 % 

(±3 % ���$) 

&�E? -%4�6-50 
>F 0 4> 0,7 % 

(>F 0 4> 50 % ���$) 
±0,07 % 

(±5 % ���$) 
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�D>4>?65=<5 F45?<FO 5 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= 

?>7D5L=>EF< 

1 2 3 4 

1,2-4<E?>DMF4= 
%2�4Cl2 

&�E? -

%2�4Cl2-50& 

>F 0 4> 3,1 % 

(>F 0 4> 50 % ���$) 
±0,19 % 

(±3 % ���$) 
&�E? -

%2�4Cl2-50 

>F 0 4> 3,1 % 

(>F 0 4> 50 % ���$) 
±0,31 % 

(±5 % ���$) 

�<<5F<?EG?LD<4 
C2H6S 

&�E? - C2H6S-

50& 

>F 0 4> 1,1 % 

(>F 0 4> 50 % ���$) 
±0,066 % 

(±3 % ���$) 
&�E? - C2H6S-

50 

>F 0 4> 1,1 % 

(>F 0 4> 50 % ���$) 
±0,11 % 

(±5 % ���$) 

1-75>E5=  
%6�12 

&�E? -%6�12-

50& 

>F 0 4> 0,6 % 

(>F 0 4> 50 % ���$) 
±0,036 % 

(±3 % ���$) 
&�E? -%6�12-

50 

>F 0 4> 0,6 % 

(>F 0 4> 50 % ���$) 
±0,06 % 

(±5 % ���$) 
2-5GF4=>? (6F>D-

5GF4=>?) s-%-

C4H9OH 

&�E? -s-%-

%4�9��-31,2T 

>F 0 4> 0,5 % 

(>F 0 4> 31,2 % ���$) 
±0,051 % 

(±3 % ���$) 

�<=<?E?>D<4 
%2�3Cl 

&�E? -%2�3Cl-

50& 

>F 0 4> 1,8 % 

(>F 0 4> 50 % ���$) 
±0,11 % 

(±3 % ���$) 

&<>?>?D>?4=  
%3�6 

&�E? -%3�6-

50& 

>F 0 4> 1,2 % 

(>F 0 4> 50 % ���$) 
±0,072 % 

(±3 % ���$) 

&�E? -%3�6-50 
>F 0 4> 1,2 % 

(>F 0 4> 50 % ���$) 
±0,12 % 

(±5 % ���$) 

�<<5F<?>6O= MD<D 
%2�6� 

&�E? -%2�6�-

50& 

>F 0 4> 1,35 % 

(>F 0 4> 50 % ���$) 
±0,081 % 

(±3 % ���$) 
&�E? -%2�6�-

50 

>F 0 4> 1,35 % 

(>F 0 4> 50 % ���$) 
±0,14 % 

(±5 % ���$) 

�<MF<?>6O= MD<D 
%4�10� 

&�E? -%4�10�-

50& 

>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,051 % 

(±3 % ���$) 
&�E? -%4�10�-

50 

>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,085 % 

(±5 % ���$) 

�>E<4 ?D>?<?5=4 
%3�6� 

&�E? -%3�6�-

50& 

>F 0 4> 0,95 % 

(>F 0 4> 50 % ���$) 
±0,057 % 

(±3 % ���$) 
&�E? -%3�6�-

50 

>F 0 4> 0,95 % 

(>F 0 4> 50 % ���$) 
±0,095 % 

(±5 % ���$) 
%?>D55=7>?  

C6H5Cl 

&�E? -%6�5Cl-

38,4T 

>F 0 4> 0,5 % 

(>F 0 4> 38,4 % ���$) 
±0,039 % 

(±3 % ���$) 

2-5GF4=>= 
(<5F<?MF<?>5F>=) 

C4H8O 

&�E? -%4�8�-

50& 

>F 0 4> 0,75 % 

(>F 0 4> 50 % ���$) 
±0,045 % 

(±3 % ���$) 
&�E? -%4�8�-

50 

>F 0 4> 0,75 % 

(>F 0 4> 50 % ���$) 
±0,075 % 

(±5 % ���$) 
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�D>4>?65=<5 F45?<FO 5 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= 

?>7D5L=>EF< 

1 2 3 4 

2-<5F<?- 2-

?D>?4=>? (FD5F-

5GF4=>?) 
 tert-%4�9�H 

&�E? -tert-

%4�9�H-50& 

>F 0 4> 1,15 % 

(>F 0 4> 50 % ���$) 
±0,054 % 

(±3 % ���$) 
&�E? -tert-

%4�9�H-50 

>F 0 4> 1,15 % 

(>F 0 4> 50 % ���$) 
±0,09 % 

(±5 % ���$) 
2-<5F>>E<- 2-

<5F<??D>?4= 
(<5F<?FD5F5GF<?>6

O= MD<D)  
tert-%5�12� 

&�E? -tert-

%5�12�-50& 

>F 0 4> 0,8 % 

(>F 0 4> 50 % ���$) 
±0,048 % 

(±3 % ���$) 

&�E? -tert-

%5�12�-50 

>F 0 4> 0,8 % 

(>F 0 4> 50 % ���$) 
±0,08 % 

(±5 % ���$) 

1,4-4<<5F<?55=7>? 
(?->E<?>?) p-%8�10 

&�E? -p-%8�10-

22,2T 

>F 0 4> 0,2 % 

(>F 0 4> 22,2 % ���$) 
±0,027 % 

(±3 % ���$) 
1,2-4<<5F<?55=7>? 
(>->E<?>?) o-%8�10 

&�E? -o-%8�10-

20T 

>F 0 4> 0,2 % 

(>F 0 4> 20 % ���$) 
±0,03 % 

(±3 % ���$) 
2-?D>?4=>? 

(<7>?D>?4=>?) i-
%3�7�� 

&�E? -i-

%3�7�H-50 

>F 0 4> 1,0 % 

(>F 0 4> 50 % ���$) 
±0,1 % 

(±5 % ���$) 

�<<<4> NH3 

&�E? -N�3-

50& 

>F 0 4> 7,5 % 

(>F 0 4> 50 % ���$) 
±0,45 % 

(±3 % ���$) 

&�E? -N�3-50 
>F 0 4> 7,5 % 

(>F 0 4> 50 % ���$) 
±0,75 % 

(±5 % ���$) 

�>F5= %8�16 
&�E? -%8�16-

33,3T 

>F 0 4> 0,3 % 

(>F 0 4> 33,3 % ���$) 
±0,027 % 

(±3 % ���$) 

2-<5F<?5GF4= 
(<7>?5=F4=) i-%5�12 

&�E? -i-%5�12-

50& 

>F 0 4> 0,65 % 

(>F 0 4> 50 % ���$) 
±0,039 % 

(±3 % ���$) 

&�E? -i-%5�12-

50 

>F 0 4> 0,65 % 

(>F 0 4> 50 % ���$) 
±0,065 % 

(±5 % ���$) 
�5F4=F<>? 

(<5F<?<5D>4?F4=) 
%�3SH 

&�E? -%�3SH-

50 

>F 0 4> 2,05 % 

(>F 0 4> 50 % ���$) 
±0,21 % 

(±5 % ���$) 

-F4=F<>? 
(MF<?<5D>4?F4=) 

%2�5SH 

&�E? -%2�5SH-

50 

>F 0 4> 1,4 % 

(>F 0 4> 50 % ���$) 
±0,14 % 

(±5 % ���$) 

�F5F>=<FD<? 
%2�3N 

&�E? -%2�3N-

50 

>F 0 4> 1,5 % 

(>F 0 4> 50 % ���$) 
±0,15 % 

(±5 % ���$) 
�<<5F<?4<EG?LD<4 

%2�6S2 

&�E? -%2�6S2-

50 

>F 0 4> 0,55 % 

(>F 0 4> 50 % ���$) 
±0,055 % 

(±5 % ���$) 

�5=7<=4)5) 
&�E?-CH-��-

50 
>F 0 4> 50 % ���$ ±5 % ���$ 

�<75?L=>5 
F>??<6>4)6) 

&�E?-CH-��-

50 
>F 0 4> 50 % ���$ ±5 % ���$ 
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�>>=G4=<5 F45?<FO 5 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= 

?>7D5L=>EF< 

1 2 3 4 

�5D>E<=4)7) 
&�E?-CH-��-

50 
>F 0 4> 50 % ���$ ±5 % ���$ 

'4=F-E?<D<F4)8) 
&�E?-CH-��-

50 
>F 0 4> 50 % ���$ ±5 % ���$ 

%G<<4 
G7?56>4>D>4>6 ?> 

<5F4=G %2-%10 

(?>65D>G=O= 
>><?>=5=F <5F4=) 

&�E? -

C2C10CH4-50& 

>F 0 4> 2,2 % 

(>F 0 4> 50 % ���$) 
±0,13 % 

(±3 % ���$) 

&�E? -

C2C10CH4-50 

>F 0 4> 2,2 % 

(>F 0 4> 50 % ���$) 
±0,22 % 

(±5 % ���$) 

&�E?- C2C10 

CH4-3000 
>F 0 4> 3000 <7/<3 

>F 0 4> 500 <7/<3 

6>?NG. ±50 <7/<3 

E6. 500 4> 3000 <7/<3 

± (0,152·X - 15,6) 

%G<<4 
G7?56>4>D>4>6  

%2-%10 (?>65D>G=O= 
>><?>=5=F ?D>?4=) 

&�E? -

C2C10C3H8-50& 

>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,051 % 

(±3 % ���$) 

&�E?-

C2C10C3H8-50 

>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,085 % 

(±5 % ���$) 

&�E?- C2C10 

C3H8-3000 
>F 0 4> 3000 <7/<3 

>F 0 4> 500 <7/<3 

6>?NG. ±50 <7/<3 

E6.500 4> 3000 <7/<3 

± (0,152·X - 15,6) 

1) 3 ?D< >>=FD>?5 >><?>=5=F>6, G>474==OE 6 $G>>6>4EF65 ?> M>E??G4F4F<<, => =5 
?D<654U==OE 6 F45?<F5, 747>4=4?<74F>DO ?D<<5=ONFEO 4?O >?D545?5=<O E>45D64=<O 
>><?>=5=F>6 ?> <5F>4<>4< <7<5D5=<= (��), D47D45>F4==O< < 4FF5EF>64==O< 6 
E>>F65FEF6<< E ��%& $ 8.563-2009. 

2) 3 4<4?47>=O <7<5D5=<= >>=>D5F=OE 747>4=4?<74F>D>6 <>6=> <7<5=OFL 6=GFD< 
G>474==OE 6 F45?<F5 4<4?47>=>6. �<4?47>= ?>>474=<= 6OE>4=OE E<7=4?>6 E>>F65FEF6G5F 
4<4?47>=G >F 0 4> 100 % ���$ <?< 4<4?47>=G <7<5D5=<=.  

3) 3 7=4G5=<O ���$ 4?O 7>DNG<E 747>6 < ?4D>6 6 E>>F65FEF6<< E  
��%& $ �-� 31610.20-1-2020; 

4) 3 ?4DO =5DF5?D>4G>F>6 O6?ONFEO E<5ELN G7?56>4>D>4>6, ?>MF><G >4?<5DGNFEO 
?> >>=>D5F=>= <4D>5 F>??<64, E G>474=<5< <4D>< 6 ?4E?>DF5 =4 ?D<5>D; 

5) 3 ?4DO 55=7<=4 ?> ��%& 1012-2013, ��%& $ 51866-2002; 

6) 3 ?4DO 4<75?L=>7> F>??<64 ?> ��%& 305-2013, ��%& 32511-2013,  

��%& 52368-2005; 

7) 3 ?4DO >5D>E<=4 ?> &' 38.401-58-8-90, �%& 38 01408-86; 

8) 3 G4=F-E?<D<F ?> ��%& $ 52368-2005; 

X 3 E>45D64=<5 >?D545?O5<>7> >><?>=5=F4 6 ?>65D>G=>= 747>6>= E<5E<, <7/<3. 
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�E57> ?<EF>6 47 

 

&45?<F4 6 3 �5FD>?>7<G5E><5 E4D4>F5D<EF<>< E M?5>FD>E<<<G5E><< E5=E>D>< (-%) 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 4>?<, 
% (<?=-1) 

<4EE>6>= 
>>=F5=FD4F<

<3), <7/<3 

?D<6545
==>= > 
��� 

>F=>E<F
5?L=>= 

1 2 3 4 5 6 

%5D>6>4>D>4 
�2S 

-%E?-�2S-7,1 >F 0 4> 7,1<?=-1 
>F 0 4> 10,0 

6>?NG. ±15 - 

-%E?-�2S-20 

>F 0 4> 10 <?=-1 

6>?NG. 
>F 0 4> 14,2 

6>?NG. ±10 - 

E6. 10 4> 20 <?=-

1 

E6. 14,2 4> 
28,4 

- ±10 

-%E?-�2S-50 

>F 0 4> 5 <?=-1 

6>?NG. 
>F 0 4> 7,1 

6>?NG. ±15 - 

E6. 5 4> 50<?=-1 E6. 7,1 4> 71 - ±15 

-%E?-�2S-100 

>F 0 4> 10 <?=-1 

6>?NG. 
>F 0 4> 14,2 

6>?NG. ±10 - 

E6. 10 4> 100 
<?=-1 

E6. 14,2 4> 
142 

- ±10 

-%E?-�2S-200 

>F 0 4> 20 <?=-1 

6>?NG. 
>F 0 4> 28,4 

6>?NG. ±15 - 

E6. 20 4>  
200<?=-1 

E6. 28,4 4> 
284 

- ±15 

-%E?-�2S-2000 

>F 0 4> 200 <?=-1 

6>?NG. 
>F 0 4> 284 

6>?NG. ±15 - 

E6. 200 4>  
2000 <?=-1 

E6. 284 4> 
2840 

- ±15 

�>E<4 MF<?5=4 
C2H4O 

-%E?-C2H4O-5 

>F 0 4> 0,5 <?=-1 

6>?NG. 
>F 0 4> 0,915 

6>?NG. ±20 - 

E6. 0,5 4> 5 <?=-1 
E6. 0,915 4> 

9,15 
- ±20 

-%E?-C2H4O-20 

>F 0 4> 5 <?=-1 

6>?NG. 
>F 0 4> 9,15 

6>?NG. ±20 - 

E6. 5 4> 20<?=-1 
E6. 9,15 4> 

36,6 
- ±20 

%?>D<EFO= 
6>4>D>4 HCL 

-%E?-HCL-30 

>F 0 4> 3 <?=-1 

6>?NG. 
>F 0 4> 4,56 

6>?NG. ±20 - 

E6. 3 4> 30<?=-1 
E6. 4,56 4> 

45,6 
- ±20 
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�D>4>?65=<5 F45?<FO 6 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 4>?<, 
% (<?=-1) 

<4EE>6>= 
>>=F5=FD4F<<

3), <7/<3 

?D<654
5==>= > 

��� 

>F=>E<F
5?L=>= 

1 2 3 4 5 6 

$F>D<EFO= 
6>4>D>4 HF 

-%E?-HF-5 

>F 0 4> 0,1<?=-1 

6>?NG. 
>F 0 4> 0,08 

6>?NG. ±20 - 

E6. 0,1 4> 5 <?=-1 
E6. 0,08 4> 

4,15 
- ±20 

-%E?-HF-10 

>F 0 4> 1 <?=-1 

6>?NG. 
>F 0 4> 0,8 

6>?NG. ±20 - 

E6. 1 4> 10<?=-1 E6. 0,8 4> 8,3 - ±20 

�7>= O3 

-%E?-O3-0,25 

>F 0 4> 0,05 <?=-

1 6>?NG. 
>F 0 4> 0,1 

6>?NG. ±20 - 

E6. 0,05 4> 0,25 
<?=-1 

E6. 0,1 4> 0,5 - ±20 

-%E?-O3-1 

>F 0 4> 0,1 <?=-1 

6>?NG. 
>F 0 4> 0,2 

6>?NG. ±20 - 

E6. 0,1 4> 1 <?=-1 E6. 0,2 4> 2 - ±20 

�>=>E<?4= 
(E<?4=) SiH4 

-%E?-SiH4-50 

>F 0 4> 10 <?=-1 

6>?NG. 
>F 0 4> 13,4 

6>?NG. ±20 - 

E6. 10 4> 50  
<?=-1 

E6. 13,4  
4> 67 

- ±20 

�>E<4  
47>F4  
NO 

-%E?-NO-50 

>F 0 4> 5 <?=-1 

6>?NG. 
>F 0 4> 6,25 

6>?NG. ±20 - 

E6. 5 4> 50<?=-1 
E6. 6,25 4> 

62,5 
- ±20 

-%E?-NO-250 

>F 0 4> 50 <?=-1 

6>?NG. 

>F 0 4> 62,5 
6>?NG. ±20 - 

E6. 50 4> 250 
<?=-1 

E6. 62,5 4> 
312,5 

- ±20 

�<>>E<4  
47>F4 NO2 

-%E?-NO2-20 

>F 0 4> 1 <?=-1 

6>?NG. 
>F 0 4> 1,91 

6>?NG. ±20 - 

E6. 1 4> 20<?=-1 
E6. 1,91 4> 

38,2 
- ±20 

�<<<4>  
NH3 

-%E?-NH3-100 

>F 0 4> 10 <?=-1 

6>?NG. 
>F 0 4> 7,1 

6>?NG. ±20 - 

E6. 10 4> 100 
<?=-1 

E6. 7,1 4> 71 - ±20 
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�D>4>?65=<5 F45?<FO 6 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 4>?<, % 
(<?=-1) 

<4EE>6>= 
>>=F5=FD4F<

<3), <7/<3 

?D<6545
==>= > 
��� 

>F=>E<
F5?L=>

= 

1 2 3 4 5 6 

�<<<4>  
NH3 

-%E?-NH3-500 

>F 0 4> 30 <?=-1 

6>?NG. 
>F 0 4> 21,3 

6>?NG. ±20 - 

E6. 30 4> 500 <?=-1 
E6. 21,3 4> 

355 
- ±20 

-%E?- 

NH3-1000 

>F 0 4> 100 <?=-1 

6>?NG. 
>F 0 4> 71 

6>?NG. ±20 - 

E6. 100 4> 1000 
<?=-1 

E6. 71 4> 710 - ±20 

&<4=<EFO= 
6>4>D>4  

HCN 

-%E?-HCN-10 

>F 0 4> 0,5<?=-1 

6>?NG. 
>F 0 4> 0,56 

6>?NG. ±15 - 

E6. 0,5 4> 10 <?=-1 
E6. 0,56 4> 

11,2 
- ±15 

-%E?-HCN-15 

>F 0 4> 1 <?=-1 

6>?NG. 
>F 0 4> 1,12 

6>?NG. ±15 - 

E6. 1 4> 15<?=-1 
E6. 1,12 4> 

16,8 
- ±15 

-%E?-HCN-30 

>F 0 4> 5 <?=-1 

6>?NG. 
>F 0 4> 5,6 

6>?NG. ±15 - 

E6. 5 4> 30 <?=-1 
E6. 5,6 4> 

33,6 
- ±15 

-%E?-HCN-100 

>F 0 4> 10 <?=-1 

6>?NG. 
>F 0 4> 11,2 

6>?NG. ±15 - 

E6. 10 4> 100 <?=-1 
E6. 11,2 4> 

112 
- ±15 

�>E<4  
G7?5D>44 CO 

-%E?-CO-200 

>F 0 4> 15 <?=-1 

6>?NG. 
>F 0 4> 17,4 

6>?NG. ±20 - 

E6. 15 4> 200 <?=-1 
E6. 17,4 4> 

232 
- ±20 

-%E?-CO-500 

>F 0 4> 15 <?=-1 

6>?NG. 
>F 0 4> 17,4 

6>?NG. ±20 - 

E6. 15 4> 500 <?=-1 
E6. 17,4 4> 

580 
- ±20 
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�D>4>?65=<5 F45?<FO 6 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 4>?<, % 
(<?=-1) 

<4EE>6>= 
>>=F5=FD4F
<<3), <7/<3 

?D<6545=
=>= > 
��� 

>F=>E<
F5?L=>

= 

1 2 3 4 5 6 

�>E<4  
G7?5D>44 CO 

-%E?-CO-5000 

>F 0 4> 1000 <?=-1 

6>?NG. 

>F 0 4> 
1160 

6>?NG. 
±20 - 

E6. 1000 4> 5000 
<?=-1 

E6. 1160 4> 
5800 

- ±20 

�<>>E<4 E5DO 
SO2 

-%E?-SO22-5 

>F 0 4> 1 <?=-1 

6>?NG. 
>F 0 4> 2,66 

6>?NG. ±20 - 

E6. 1 4> 5 <?=-1 
E6. 2,66 4> 

13,3 
- ±20 

-%E?-SO2-15 

>F 0 4> 5 <?=-1 

6>?NG. 
>F 0 4> 13,3 

6>?NG. ±20 - 

E6. 5 4> 15  
<?=-1 

E6. 13,3 4> 
39,9 

- ±20 

-%E?-SO2-20 

>F 0 4> 5 <?=-1 

6>?NG. 
>F 0 4> 13,3 

6>?NG. ±20 - 

E6. 5 4> 20 <?=-1 
E6. 13,3 4> 

53,2 
- ±20 

-%E?-SO2-50 

>F 0 4> 10 <?=-1 

6>?NG. 
>F 0 4> 26,6 

6>?NG. ±20 - 

E6. 10 4> 50 

 <?=-1 

E6. 26,6 4> 
133 

- ±20 

-%E?-SO2-100 

>F 0 4> 10 <?=-1 

6>?NG. 
>F 0 4> 26,6 

6>?NG. ±20 - 

E6. 10 4> 100 <?=-

1 

E6. 26,6 4> 
266 

- ±20 

-%E?-SO2-2000 

>F 0 4> 100 <?=-1 

6>?NG. 
>F 0 4> 266 

6>?NG. ±20 - 

E6. 100 4> 2000 
<?=-1 

E6. 266 4> 
5320 

- ±20 

%?>D Cl2 -%E?-Cl2-5 

>F 0 4> 0,3 <?=-1 

6>?NG. 
>F 0 4> 0,88 

6>?NG. ±20 - 

E6. 0,3 4> 5 <?=-1 
E6. 0,88 4> 

14,75 
- ±20 
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�D>4>?65=<5 F45?<FO 6 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 4>?<, 
% (<?=-1) 

<4EE>6>= 
>>=F5=FD4

F<<3), 

<7/<3 

?D<6545=
=>= > 
��� 

>F=>E<
F5?L=>

= 

1 2 3 4 5 6 

%?>D Cl2 

-%E?-Cl2-15 

>F 0 4> 5 <?=-1 

6>?NG. 

>F 0 4> 
14,7 

6>?NG. 
±20 - 

E6. 5 4> 15 

 <?=-1 

E6. 14,7  
4> 44,2 

- ±20 

-%E?-Cl2-20 

>F 0 4> 5 <?=-1 

6>?NG. 

>F 0 4> 
14,7 

6>?NG. 
±20 - 

E6. 5 4> 20<?=-1 
E6. 14,7 4> 

59 
- ±20 

�<E?>D>4 �2 -%E?-O2-30 

>F 0 4> 10 % 
6>?NG. - ±5 - 

E6. 10 4> 30 % - - ±5 

�>4>D>4 �2 

-%E?-H2-1000 

>F 0 4> 100 <?=-1 

6>?NG. 
>F 0 4> 8,0 

6>?NG. ±10 - 

E6. 100 4> 1000 
<?=-1 

E6. 8,0 4> 
80,0 

- ±10 

-%E?-H2-10000 
>F 0 4> 1000 

 <?=-1 6>?NG. 

>F 0 4> 
80,0 

6>?NG. 
±10 - 

-%E?-H2-20000 

>F 0 4> 10000 
<?=-1 6>?NG. 

>F 0 4> 800 
6>?NG. ±10 - 

E6. 10000 4> 
20000 <?=-1 

E6. 800 4> 
1600 

- ±10 

$>D<4?L457<4 
%�2� 

-%E?-%�2�-10 

>F 0 4> 0,4<?=-1 

6>?NG. 
>F 0 4> 0,5 

6>?NG. ±20 - 

E6. 0,4 4> 10 <?=-1 
E6. 0,5 4> 

12,5 
- ±20 

�5E<<<5FD<G=
O= 

4<<5F<?7<4D47
<= %2�8N2 

-%E?- 

%2�8N2-0,5 

>F 0 4> 0,12 <?=-1 

6>?NG. 
>F 0 4> 0,3 

6>?NG. ±20 - 

E6. 0,12 4> 0,5 
<?=-1 

E6. 0,3 4> 
1,24 

- ±20 
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�D>4>?65=<5 F45?<FO 6 

�?D545?O5<O
= >><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 
4>?<, % (<?=-1) 

<4EE>6>= 
>>=F5=FD4F
<<3), <7/<3 

?D<6545=
=>= > 
��� 

>F=>E<F5
?L=>= 

1 2 3 4 5 6 

�5F4=>? 
CH3OH 

-%E?- 

CH3OH-20 

>F 0 4> 5 <?=-1 

6>?NG. 
>F 0 4> 6,65 

6>?NG. ±20 - 

E6. 5 4> 20<?=-1 
E6. 6,65 4> 

26,6 
- ±20 

-%E?- 

CH3OH-50 

>F 0 4> 5 <?=-1 

6>?NG. 
>F 0 4> 6,65 

6>?NG. ±20 - 

E6. 5 4> 50<?=-1 
E6. 6,65 4> 

66,5 
- ±20 

-%E?- 

CH3OH-100 

>F 0 4> 10 <?=-1 

6>?NG. 
>F 0 4> 13,3 

6>?NG. ±20 - 

E6. 10 4> 
100<?=-1 

E6. 13,3 4> 
133 

- ±20 

-%E?- 

CH3OH-200 

>F 0 4> 20 <?=-1 

6>?NG. 
>F 0 4> 26,6 

6>?NG. ±20 - 

E6. 20 4> 200 

<?=-1 

E6. 26,6 4> 
266,0 

- ±20 

-%E?- 

CH3OH-1000 

>F 0 4> 100 
<?=-1 6>?NG. 

>F 0 4> 
133,0 

6>?NG. 
±20 - 

E6. 100 4> 1000 
<?=-1 

E6. 133,0 4> 
1330 

- ±20 

-F4=F<>? 
(MF<?<5D>4?-

F4=) %2�5SH 

-%E?- 

%2�5SH-4 

>F 0 4> 0,4  

<?=-1 6>?NG. 
>F 0 4> 1 
6>?NG. ±20 - 

E6. 0,4 4> 4 
<?=-1 

E6. 1 4> 10 - ±20 
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�D>4>?65=<5 F45?<FO 6 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 4>?<, % 
(<?=-1) 

<4EE>6>= 
>>=F5=FD4F<

<3), <7/<3 

?D<6545
==>= > 
��� 

>F=>E
<F5?L
=>= 

1 2 3 4 5 6 

�5F4=F<>? 
(<5F<?<5D-

>4?F4=)  
%�3SH 

-%E?-%�3SH-4 

>F 0 4> 0,4<?=-1 

6>?NG. 
>F 0 4> 0,8 

6>?NG. ±20 - 

E6. 0,4 4> 4 <?=-1 E6. 0,8 4> 8 - ±20 

�4D5>=<?E?>D<4 
(D>E75=)  
%OCl2 

-%E?-%OCl2-1 

>F 0 4> 0,1 <?=-1 

6>?NG. 
>F 0 4> 0,41 

6>?NG. ±20 - 

E6. 0,1 4> 1 <?=-1 E6.0,41 4> 4,11 - ±20 

-%E?-%OCl2-4 
>F 0 4> 0,2 <?=-1 

6>?NG. 
>F 0 4> 0,82 

6>?NG. ±20 - 

$F>D F2 -%E?-F2-1 

>F 0 4> 0,1 <?=-1 

6>?NG. 
>F 0 4> 0,16 

6>?NG. ±20 - 

E6. 0,1 4> 1 <?=-1 E6.0,16 4> 1,58 - ±20 

$>ED<=  
PH3 

-%E?-PH3-1 

>F 0 4> 0,1 <?=-1 

6>?NG. 
>F 0 4> 0,14 

6>?NG. ±20 - 

E6. 0,1 4> 1 <?=-1 E6. 0,14 4> 1,41 - ±20 

-%E?-PH3-10 

>F 0 4> 1 <?=-1 

6>?NG. 
>F 0 4> 1,41 

6>?NG. ±20 - 

E6. 1 4> 10 <?=-1 E6.1,41 4> 14,1 - ±20 

�DE<=  
AsH3 

-%E?-AsH3-1 

>F 0 4> 0,1 <?=-1 

6>?NG. 
>F 0 4> 0,32 

6>?NG. ±20 - 

E6. 0,1 4> 1 <?=-1 E6.0,32 4> 3,24 - ±20 

'>EGE=4O 
><E?>F4  
C2H4O2 

-%E?-C2H4O2-

10 

>F 0 4> 2 <?=-1 

6>?NG. 
>F 0 4> 5 
6>?NG. ±20 - 

E6. 2 4> 10<?=-1 E6. 5 4> 25 - ±20 

-%E?-C2H4O2-

30 

>F 0 4> 5 <?=-1 

6>?NG. 
>F 0 4> 12,5 

6>?NG. ±20 - 

E6. 5 4> 30<?=-1 
E6.12,5 4> 

75,0 
- ±20 
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�>>=G4=<5 F45?<FO 6 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 4>?<, % 
(<?=-1) 

<4EE>6>= 
>>=F5=FD4F<

<3), <7/<3 

?D<6545
==>= > 
��� 

>F=>E<
F5?L=>

= 

1 2 3 4 5 6 

�<4D47<=  
N2H4 

-%E?-N2H4-2 

>F 0 4> 0,2 <?=-1 

6>?NG. 
>F 0 4> 0,26 

6>?NG. ±20 - 

E6. 0,2 4> 2 <?=-1 
E6. 0,26 4> 

2,66 
- ±20 

1) 3 ?D< >>=FD>?5 >><?>=5=F>6, G>474==OE 6 $G>>6>4EF65 ?> M>E??G4F4F<<, => 
=5 ?D<654U==OE 6 F45?<F5, 747>4=4?<74F>DO ?D<<5=ONFEO 4?O >?D545?5=<O E>45D64=<O 
>><?>=5=F>6 ?> <5F>4<>4< <7<5D5=<= (��), D47D45>F4==O< < 4FF5EF>64==O< 6 
E>>F65FEF6<< E ��%& $ 8.563-2009; 

2) 3 4<4?47>=O <7<5D5=<= >>=>D5F=OE 747>4=4?<74F>D>6 <>6=> <7<5=OFL 6=GFD< 
G>474==OE 6 F45?<F5 4<4?47>=>6. �<4?47>= ?>>474=<= 6OE>4=OE E<7=4?>6 E>>F65FEF6G5F 
4<4?47>=G >F 0 4> 100 % ���$ <?< 4<4?47>=G <7<5D5=<=; 

3) 3 ?5D5EG5F 7=4G5=<= >5N5<=>= 4>?< %, <?=-1, 6 <4EE>6GN >>=F5=FD4F<N %, 
<7/<3, ?D>6>4OF ?> D>D<G?5: %=%·�/Vm, 745 % 3 <4EE>64O >>=F5=FD4F<O >><?>=5=F4, 
<7/<3; M 3 <>?OD=4O <4EE4 >><?>=5=F4, 7/<>?L; Vm 3 <>?OD=O= >5N5< 7474-D47546<F5?O - 
6>74GE4, D46=O= 24,06, ?D< GE?>6<OE (20 % < 101,3 >�4 ?> ��%& 12.1.005-88), 4<3/<>?L. 

 

&45?<F4 7 3 �5FD>?>7<G5E><5 E4D4>F5D<EF<>< E D>F><>=<74F<>==O< E5=E>D>< ($�) 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 4>?<, 
% (<?=-1) 

<4EE>6>= 
>>=F5=FD4F<<3)

, <7/<3 

?D<654
5==>= 
> ��� 

>F=>E<
F5?L=>

= 

1 2 3 4 5 6 

�<=<?E?>D<4 
C2H3Cl 

$�E?-C2H3Cl-10 

>F 0 4> 1,9 
6>?NG. 

>F 0 4> 5 
6>?NG. ±20 - 

E6. 1,9 4> 10 E6. 5 4> 26 - ±20 

$�E?-C2H3Cl-100 

>F 0 4> 10 
6>?NG. 

>F 0 4> 26 
6>?NG. ±20 - 

E6. 10 4> 100 E6. 26 4> 260 - ±20 

$�E?-C2H3Cl-500 
>F 0 4> 500 

>F 0 4> 260 
6>?NG. ±20 - 

E6. 100 4> 500 E6. 260 4> 1300 - ±20 

$�E?-C2H3Cl-

1000 
>F 0 4> 500  >F 0 4> 

1295 
±25 - 
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�D>4>?65=<5 F45?<FO 7 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 4>?<, 
% (<?=-1) 

<4EE>6>= 
>>=F5=FD4F<<3)

, <7/<3 

?D<654
5==>= 
> ��� 

>F=>E<
F5?L=>

= 

1 2 3 4 5 6 

�5=7>? C6H6 

$�E?- 

C6H6-10 

>F 0 4> 4,6 
6>?NG. 

>F 0 4> 15 
6>?NG. ±20 - 

E6. 4,6 4> 10 E6. 15 4> 32,5 - ±20 

$�E?- 

C6H6-100 

>F 0 4> 10 
6>?NG. 

>F 0 4> 32,5 
6>?NG. ±20 - 

E6. 10 4> 100 E6. 32,5 4> 325 - ±20 

$�E?- 

C6H6-500 

>F 0 4> 100 
6>?NG. 

>F 0 4> 325 
6>?NG. ±20 - 

E6. 100 4> 500 E6. 325 4> 1625 - ±20 

$�E?-C6H6-

1000 
>F 0 4> 500 >F 0 4> 1625 ±25 - 

-F<?55=7>? 
C8H10 

$�E?-C8H10-10 

>F 0 4> 2 
6>?NG. 

>F 0 4> 8,8 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 8,8 4> 44,1 - ±20 

$�E?- 

C8H10-100 

>F 0 4> 10 
6>?NG. 

>F 0 4> 44,1 
6>?NG. ± 15 - 

E6. 10 4> 100 E6. 44,1 4> 441 - ± 15 

$�E?-C8H10-500 

>F 0 4> 100 
6>?NG. 

>F 0 4> 441 
6>?NG. ± 15 - 

E6. 100 4> 500 E6. 441 4> 2205 - ± 15 

$�E?-C8H10-

1000 
>F 0 4> 500 >F 0 4> 2205 ± 25 - 

$5=<?MF<?5= 
(EF<D>?) 

(6<=<?55=7>?) 
C8H8 

$�E?- 

C8H8-10 

>F 0 4> 2 
6>?NG. 

>F 0 4> 8,6 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 8,6 4> 43,3 - ±20 

$�E?- 

C8H8-40 

>F 0 4> 6,9 
6>?NG. 

>F 0 4> 29,9 
6>?NG. ±20 - 

E6. 6,9 4> 40 
E6. 29,9 4> 

173,2 
- ±20 

$�E?-C8H8-500 

>F 0 4> 100 
6>?NG. 

>F 0 4> 433 
6>?NG. ±20 - 

E6. 100 4> 500 E6. 433 4> 2165 - ±20 

$�E?-C8H8-

1000 
>F 0 4> 500 >F 0 4> 2165 ±20 - 

=-

?D>?<?4F5F4F 
C5H10O2 

$�E?- 

C5H10O2-10 

>F 0 4> 2 
6>?NG. 

>F 0 4> 8,5 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 8,5 4> 42,5 - ±20 
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�D>4>?65=<5 F45?<FO 7 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 4>?<, 
% (<?=-1) 

<4EE>6>= 
>>=F5=FD4F<<3)

, <7/<3 

?D<654
5==>= 
> ��� 

>F=>E<
F5?L=>

= 

1 2 3 4 5 6 

=-?D>?<?4F5F4F 
C5H10O2 

$�E?-

C5H10O2-100 

>F 0 4> 30 
6>?NG. 

>F 0 4> 127,5 
6>?NG. ±20 - 

E6. 30 4> 100 E6. 127,5 4> 425 - ±20 

-?<E?>D7<4D<= 
C3H5%lO 

$�E?-

C3H5ClO-10 

>F 0 4> 2 
6>?NG. 

>F 0 4> 7,7 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 7,7 4> 38,5 - ±20 

%?>D<EFO= 
55=7<? C7H7%l 

$�E?- 

C7H7Cl-10 

>F 0 4> 2 
6>?NG. 

>F 0 4> 10,5 
6>?NG. ±20 - 

E6. 2 4> 10 
E6. 10,5 4> 

52,67 
- ±20 

$GDDGD<?>6O= 
E?<DF C5H6O2 

$�E?-C5H6O2-

10 

>F 0 4> 2 
6>?NG. 

>F 0 4> 8,6 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 8,6 4> 40,8 - ±20 

-F4=>? C2H5OH 

$�E?- 

C2H5OH-10 

>F 0 4> 2 
6>?NG. 

>F 0 4> 3,84 
6>?NG. ± 20 - 

E6. 2 4> 10 E6.3,84 4> 19,2 - ± 20 

$�E?- 

C2H5OH-100 

>F 0 4> 10 
6>?NG. 

>F 0 4> 19,2 
6>?NG. ± 20 - 

E6. 10 4> 100 E6.19,2 4> 192 - ± 20 

$�E?- 

C2H5OH-1000 
>F 0 4> 500 >F 0 4> 960 ± 20 - 

$�E?- 

C2H5OH-2000 

>F 0 4> 500 
6>?NG. 

>F 0 4> 960 
6>?NG. ± 15 - 

E6. 500 4> 2000 E6. 960 4> 3840 - ± 15 

�>=>MF4=>?4<<
= (2-

4<<=>MF4=>?) 
C2H7NO 

$�E?- 

C2H7NO-3 

>F 0 4> 0,2 
6>?NG. 

>F 0 4> 0,5 
6>?NG. ± 20 - 

E6. 0,2 4> 3 E6. 0,5 4> 7,6 - ± 20 

$�E?- 

C2H7NO-10 

>F 0 4> 2 
6>?NG. 

>F 0 4> 5,1 
6>?NG. ± 20 - 

E6. 2 4> 10 E6. 5,1 4> 25,4 - ± 20 
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�D>4>?65=<5 F45?<FO 7 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<
O E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 4>?<, 
% (<?=-1) 

<4EE>6>= 
>>=F5=FD4F<<3)

, <7/<3 

?D<654
5==>= > 

��� 

>F=>E<
F5?L=>

= 

1 2 3 4 5 6 

$>D<4?L457<4 
%�2� 

$�E?- 

CH2O-10 

>F 0 4> 0,4 
6>?NG. 

>F 0 4> 0,5 
6>?NG. ± 20 - 

E6. 0,4 4> 10 E6. 0,5 4> 12,5 - ± 20 

2-?D>?4=>? 
(<7>?D>?4=>?) i-

%3�7�� 

$�E?-i-

C3H7OH-10 

>F 0 4> 4 6>?NG. >F 0 4> 10 
6>?NG. ± 20 - 

E6. 4 4> 10 E6. 10 4> 25 - ± 20 

$�E?-i-

C3H7OH-100 

>F 0 4> 20 
6>?NG. 

>F 0 4> 50 
6>?NG. ± 20 - 

E6. 20 4> 100 E6. 50 4> 250 - ± 20 

'>EGE=4O 
><E?>F4  
C2H4O2 

$�E?-

C2H4O2-10 

>F 0 4> 2 6>?NG. >F 0 4> 5 
6>?NG. ± 20 - 

E6. 2 4> 10 E6. 5 4> 25 - ± 20 

$�E?-

C2H4O2-100 
>F 0 4> 100 >F 0 4> 250 ±20 - 

2-<5F<??D>?5= 
(<7>5GF<?5=) 

(��% ?> 
<7>5GF<?5=G)  

i-C4H8 

$�E?-i- 

C4H8-10 

>F 0 4> 2 6>?NG. >F 0 4> 4,6 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 4,6 4> 23,3 - ±20 

$�E?-i- 

C4H8-100 

>F 0 4> 10 6>?NG. >F 0 4> 23,3 
6>?NG. ±20 - 

E6. 10 4> 100 E6. 23,3 4> 233 - ±20 

$�E?-i- 

C4H8-1000 

>F 0 4> 100 
6>?NG. 

>F 0 4> 233 
6>?NG. ±15 - 

E6. 100 4> 1000 E6. 233 4> 2330 - ±15 

$�E?-i- 

C4H8-6000 

>F 0 4> 500 
6>?NG. 

>F 0 4> 1165 
6>?NG. ±15 - 

E6. 500 4> 6000 
E6. 1165 4> 

13980 
- ±15 

1-5GF4=>? 
C4H9OH 

$�E?-

C4H9OH-10 

>F 0 4> 3,2 
6>?NG. 

>F 0 4> 9,9 
6>?NG. ±20 - 

E6. 3,2 4> 10 E6. 9,9 4> 30,8 - ±20 

$�E?-

C4H9OH-40 

>F 0 4> 9,7 
6>?NG. 

>F 0 4> 29,9 
6>?NG. ±20 - 

E6. 9,7 4> 40 
E6. 29,9 4> 

123,3 
-  
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�D>4>?65=<5 F45?<FO 7 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4
F<O 

E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, 

% 

>5N5<=>= 4>?<, 
% (<?=-1) 

<4EE>6>= 
>>=F5=FD4F<<3), 

<7/<3 

?D<65
45==>

= > 
��� 

>F=>E<
F5?L=>

= 

1 2 3 4 5 6 

1-5GF4=>? 
C4H9OH 

$�E?- 

C4H9OH-

100 

>F 0 4> 10 
6>?NG. 

>F 0 4> 30,8 
6>?NG. ±20 - 

E6. 10 4> 100 E6. 29,9 4> 123,3 - ±20 

�<MF<?4<<= 
C4H11N 

$�E?-

C4H11N-10 

>F 0 4> 3 6>?NG. >F 0 4> 9,1 
6>?NG. ±20 - 

E6. 3 4> 10 E6. 9,1 4> 30,4 - ±20 

$�E?-

C4H11N-40 

>F 0 4> 9,8 
6>?NG. 

>F 0 4> 29,8 
6>?NG. ±20 - 

E6. 9,8 4> 40 E6. 29,8 4> 121,6 - ±20 

$�E?- 

C4H11N-100 

>F 0 4> 10 6>?NG. >F 0 4> 30,4 
6>?NG. ±20 - 

E6. 10 4> 100 %6. 30,4 4> 304 - ±20 

�5F4=>? CH3OH 

$�E?-

CH3OH-10 

>F 0 4> 3,75 
6>?NG. 

>F 0 4> 4,98 
6>?NG. ±15 - 

E6. 3,75 4> 10 E6. 4,98 4> 13,3 - ±15 

$�E?-

CH3OH-40 

>F 0 4> 11,2 
6>?NG. 

>F 0 4> 14,9 
6>?NG. ±15 - 

E6. 11,2 4> 40 E6. 14,9 4> 53,2 - ±15 

$�E?- 

CH3OH-100 

>F 0 4> 10 6>?NG. >F 0 4> 13,3 
6>?NG. ±20 - 

E6. 10 4> 40 E6. 13,3 4> 133 - ±20 

�5F<?55=7>? 
(F>?G>?)  

C7H8 

$�E?- 

C7H8-10 

>F 0 4> 2 6>?NG. >F 0 4> 7,66 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 7,66 4> 38,3 - ±20 

$�E?- 

C7H8-40 

>F 0 4> 13 6>?NG. >F 0 4> 49,8 
6>?NG. ±15 - 

E6. 13 4> 40 E6. 49,8 4> 153,3 - ±15 

$�E?- 

C7H8-100 

>F 0 4> 13 6>?NG. >F 0 4> 49,8 
6>?NG. ±15 - 

E6. 13 4> 100 E6. 49,8 4> 383 - ±15 

$5=>? 

C6H5OH 

$�E?-

C6H5OH-3 

>F 0 4> 0,25 
6>?NG. 

>F 0 4> 0,98 
6>?NG. ±20 - 

E6. 0,25 4> 3 E6. 0,98 4> 11,74 - ±20 
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�D>4>?65=<5 F45?<FO 7 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4
F<O 

E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, 

% 

>5N5<=>= 4>?<, 
% (<?=-1) 

<4EE>6>= 
>>=F5=FD4F<<3), 

<7/<3 

?D<65
45==>

= > 
��� 

>F=>E<
F5?L=>

= 

1 2 3 4 5 6 

$5=>? 

C6H5OH 

$�E?-

C6H5OH-10 

>F 0 4> 2 6>?NG. >F 0 4> 7,8 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 7,8 4> 39,1 - ±20 

$�E?- 

C6H5OH-

100 

>F 0 4> 10 

6>?NG. 
>F 0 4> 8,82 

6>?NG. ±20 - 

E6. 10 4> 100 E6. 8,82 4> 44,1 - ±20 

1,2-

4<<5F<?55=7>? (>-

>E<?>?) o-C8H10 

$�E?-m- 

C8H10-10 

>F 0 4> 2 6>?NG. >F 0 4> 8,82 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 8,82 4> 44,1 - ±20 

$�E?-o-

C8H10-100 

>F 0 4> 10 6>?NG. >F 0 4> 44,2 
6>?NG. ±15 - 

E6. 10 4> 100 E6. 44,2 4> 442 - ±15 

1,3-

4<<5F<?55=7>? 
(<->E<?>?) m-

C8H10 

$�E?-m- 

C8H10-10 

>F 0 4> 2 6>?NG. >F 0 4> 8,82 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 8,82 4> 44,1 - ±20 

$�E?-m-

C8H10-100 

>F 0 4> 10 6>?NG. >F 0 4> 44,2 
6>?NG. ±15 - 

E6. 10 4> 100 E6. 44,2 4> 442 - ±15 

1,4-

4<<5F<?55=7>? (?-

>E<?>?) p-C8H10 

$�E?-m- 

C8H10-10 

>F 0 4> 2 6>?NG. >F 0 4> 8,82 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 8,82 4> 44,1 - ±20 

$�E?-p-

C8H10-100 

>F 0 4> 10 6>?NG. >F 0 4> 44,2 
6>?NG. ±15 - 

E6. 10 4> 100 E6. 44,2 4> 442 - ±15 

�5>E4DF>D<4 E5DO 
SF6 

$�E?-p-  

SF6-10 

>F 0 4> 2 

6>?NG. 
>F 0 4> 12,16 

6>?NG. ±20 - 

E6. 2 4> 10 E6. 12,16 4> 60,8 - ±20 

$�E?-p-  

SF6-100 

>F 0 4> 10 

6>?NG. 
>F 12,16 4> 60,8 

6>?NG. ±20 - 

E6. 10 4> 100 E6. 60,8 4> 608 - ±20 

$>ED<= PH3 
$�E?- 

PH3-10 

>F 0 4> 1 6>?NG. >F 0 4> 1,4 
6>?NG. ±20 - 

E6. 1 4> 10 E6. 1,4 4> 14,1 - ±20 
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�D>4>?65=<5 F45?<FO 7 

�?D545?O5<O
= >><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) >?D545?O5<>7> 
>><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, 

% 

>5N5<=>= 4>?<, 
% (<?=-1) 

<4EE>6>= 
>>=F5=FD4F<<3), 

<7/<3 

?D<65
45==>

= > 
��� 

>F=>E<
F5?L=>

= 

1 2 3 4 5 6 

�4DF4?<= 
%10�8 

$�E?- 

C10H8-10 

>F 0 4> 3,7 
6>?NG. 

>F 0 4> 19,7 
6>?NG. ±20 - 

E6. 3,7 4> 10 E6. 19,7 4> 53,3 - ±20 

�D>< Br2 
$�E?- 

Br2-2 

>F 0 4> 0,2 
6>?NG. 

>F 0 4> 1,33 
6>?NG. ±20 - 

�<<<4>  
NH3 

$�E?- 

NH3-100 

>F 0 4> 20 6>?NG. >F 0 4> 14,2 6>?NG. ±15 - 

E6. 20 4> 100 E6. 14,2 4> 71 - ±15 

$�E?- 

NH3-1000 

>F 0 4> 100 
6>?NG. >F 0 4> 71 6>?NG. ±15 - 

E6. 100 4> 1000 E6. 71 4> 710 - ±15 

-F4=F<>? 
(MF<?<5D>4?F4=) 

%2�5SH 

$�E?- 

C2H5SH-10 

>F 0 4> 0,4 6>?NG. >F 0 4> 1 6>?NG. ±20 - 

E6. 0,4 4> 10 E6. 1 4> 25,8 - ±20 

$�E?- 

C2H5SH-20 

>F 0 4> 2 6>?NG. >F 0 4> 5,16 6>?NG. ±20 - 

E6. 2 4> 20 E6. 5,16 4> 51,6 - ±20 

�5F4=F<>? 
(<5F<?<5D>4?F4

=) %�3SH 

$�E?- 

CH3SH-10 

>F 0 4> 0,4 6>?NG. >F 0 4> 0,8 6>?NG. ±20 - 

E6. 0,4 4> 10 E6. 0,8 4> 20 - ±20 

$�E?- 

CH3SH-20 

>F 0 4> 2 6>?NG. >F 0 4> 4 6>?NG. ±20 - 

E6. 2 4> 20 E6. 4 4> 40 - ±20 

-F<?4F5F4F 
C4H8O2 

$�E?- 

C4H8O2-100 

>F 0 4> 13 6>?NG. >F 0 4> 47,6 6>?NG. ±20 - 

E6. 13 4> 100 E6. 47,6 4> 366 - ±20 

�GF<?4F5F4F 

C6H12O2 

$�E?- 

C6H12O2-50 

>F 0 4> 5 6>?NG. >F 0 4> 24,15 
6>?NG. ±20 - 

E6. 5 4> 50 E6. 24,15 4> 241,5 - ±20 

$�E?-

C6H12O2-100 

>F 0 4> 10 
6>?NG. 

>F 0 4> 48,3 
6>?NG. ±20 - 

E6. 10 4> 100 E6. 48,3 4> 483 - ±20 

�D>?<?5= 
(?D>?5=) C3H6 

$�E?- 

C3H6-10 

>F 0 4> 26>?NG. >F 0 4> 3,5 6>?NG. ±15 - 

E6. 2 4> 10 E6. 3,5 4> 17,5 - ±15 

$�E?- 

C3H6-100 

>F 0 4> 10 
6>?NG. 

>F 0 4> 17,5 
6>?NG. ±20 - 

E6. 10 4> 100 E6. 17,5 4> 175 - ±20 

$�E?- 

C3H6-300 

>F 0 4> 50 
6>?NG. 

>F 0 4> 93,5 
6>?NG. ±15 - 

E6. 50 4> 300 E6. 93,5 4> 561 - ±15 
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�D>4>?65=<5 F45?<FO 7 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 4>?<, 
% (<?=-1) 

<4EE>6>= 
>>=F5=FD4F<<3)

, <7/<3 

?D<654
5==>= 
> ��� 

>F=>E<
F5?L=>

= 

1 2 3 4 5 6 

2,6- 

F>?G<?5=4<- 

<7>F<4=4F 

%3%6�3 

(NCO)2 

$�E?-  

%3%6�3 

(NCO)2-1 

>F 0 4> 0,1 
6>?NG. 

>F 0 4> 0,72 
6>?NG. ±20 - 

E6. 0,1 4> 1 E6. 0,72 4> 7,24 - ±20 

2,3-4<F<45GF4= 
(4<<5F<?4<EG?
LD<4) %2�6S2 

$�E?- 

%2�6S2-2 

>F 0 4> 0,35 
6>?NG. 

>F 0 4> 1,37 
6>?NG. ±20 - 

E6. 0,35 4> 2 E6. 1,37 4> 7,8 - ±20 

$�E?- 

%2�6S2-10 

>F 0 4> 2 
6>?NG. 

>F 0 4> 7,8 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 7,8 4> 39,2 - ±20 

2,5-DGD4=4<>= 
(<4?5<=>6O= 

4=7<4D<4) 
C4H2O3 

$�E?-C4H2O3-3 

>F 0 4> 0,25 
6>?NG. 

>F 0 4> 1,02 
6>?NG. ±20 - 

E6. 0,25 4> 3 E6. 1,02 4> 12,2 - ±20 

$�E?-C4H2O3-

10 

>F 0 4> 2 
6>?NG. 

>F 0 4> 8,16 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 8,16 4> 40,8 - ±20 

�<EG?LD<4 
G7?5D>44 

(E5D>G7?5D>4) 
CS2 

$�E?-CS2-10 

>F 0 4> 1 
6>?NG. 

>F 0 4> 3,17 
6>?NG. ±20 - 

E6. 1 4> 10 E6. 3,17 4> 31,7 - ±20 

�F5F>=<FD<? 
C2H3N 

$�E?-C2H3N-10 

>F 0 4> 6 
6>?NG. 

>F 0 4> 10,2 
6>?NG. ±15 - 

E6. 6 4> 10 E6. 10,2 4> 17,1 - ±15 

&<>?>75>E4= 
%6�12 

$�E?- 

%6�12-100 

>F 0 4> 20 
6>?NG. 

>F 0 4> 70 
6>?NG. ±20 - 

E6. 20 4> 100 E6. 70 4> 350 - ±20 

1,3-5GF44<5= 
(4<6<=<?) %4�6 

$�E?- 

%4�6-500 

>F 0 4> 50 
6>?NG. 

>F 0 4> 112 
6>?NG. ±20 - 

E6. 50 4> 500 E6. 112 4> 1125 - ±20 

=-75>E4= %6�14 
$�E?- 

C6H14-1000 

>F 0 4> 84 
6>?NG. 

>F 0 4> 301 
6>?NG. ±20 - 

E6. 84 4> 1000 E6. 301 4> 3584 - ±20 
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�D>4>?65=<5 F45?<FO 7 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 4>?<, 
% (<?=-1) 

<4EE>6>= 
>>=F5=FD4F<<3)

, <7/<3 

?D<654
5==>= > 

��� 

>F=>E<
F5?L=>

= 

1 2 3 4 5 6 

�DE<=  
AsH3 

$�E?- 

AsH3 -3 

>F 0 4> 0,1 
6>?NG. 

>F 0 4> 0,32 
6>?NG. ±20 - 

E6. 0,1 4> 3 E6. 0,32 4> 9,7 - ±20 

$�E?-AsH3 -10 

>F 0 4> 2 
6>?NG. 

>F 0 4> 6,48 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 6,48 4> 32,4 - ±20 

�<<5F<?-

EG?LD<4  
C2H6S 

$�E?- C2H6S -5 
>F 0 4> 16>?NG. >F 0 4> 2,58 

6>?NG. ±20 - 

E6. 1 4> 5 E6. 2,58 4> 12,9 - ±20 

$�E?-  

C2H6S -100 

>F 0 4> 20 
6>?NG. 

>F 0 4> 51,6 
6>?NG. ±20 - 

E6. 20 4> 100 E6. 51,6 4> 258 - ±20 

-F<?5=  
C2H4 

$�E?-  

C2H4 -300 

>F 0 4> 20 
6>?NG. 

>F 0 4> 23,4 
6>?NG. ±20 - 

E6. 20 4> 300 E6. 23,4 4> 351 - ±20 

$�E?-  

C2H4 -1800 

>F 0 4> 100 
6>?NG. 

>F 0 4> 117 
6>?NG. ±20 - 

E6. 100 4> 1800 E6. 117 4> 2106 - ±20 

&5FD4DF>DMF4=  
C2F4  

$�E?-  

C2F4-10 

>F 0 4> 2 
6>?NG. 

>F 0 4> 8,32 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 8,32 4> 41,6 - ±20 

$�E?-  

C2F4-100 

>F 0 4> 10 
6>?NG. 

>F 0 4> 41,6 
6>?NG. ±20 - 

E6. 10 4> 100 E6. 41,6 4> 416 - ±20 

�>D<?>=<FD<? 
C3H3N 

$�E?- 

C3H3N-10 

>F 0 4> 0,7 
6>?NG. 

>F 0 4> 1,45 
6>?NG. ±20 - 

E6. 0,7 4> 10 E6. 1,45 4> 22,1 - ±20 

�GD46L<=4O 
><E?>F4  
CH2O2 

$�E?- 

CH2O2-10 

>F 0 4> 0,5 
6>?NG. 

>F 0 4> 0,96 
6>?NG. ±20 - 

E6. 0,5 4> 10 E6. 0,96 4> 19,1 - ±20 

=-75?F4=  
%7�16 

$�E?- 

%7�16-500 

>F 0 4> 50 
6>?NG. 

>F 0 4> 208 
6>?NG. ±15 - 

E6. 50 4> 500 E6. 208 4> 2084 - ±15 

$�E?- 

%7�16-2000 

>F 0 4> 100 
6>?NG. 

>F 0 4> 416 
6>?NG. 

±15 - 

E6. 100 4> 2000 E6. 416 4> 8334 - ±15 
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�D>4>?65=<5 F45?<FO 7 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, 

% 

>5N5<=>= 4>?<, 
% (<?=-1) 

<4EE>6>= 
>>=F5=FD4F<<3), 

<7/<3 

?D<654
5==>= 
> ��� 

>F=>E
<F5?L
=>= 

1 2 3 4 5 6 

2-?D>?4=>= 
(4F5F>=)  
C3H6O 

$�E?- 

C3H6O-1000 

>F 0 4> 80 
6>?NG. 

>F 0 4> 193 
6>?NG. ±15 - 

E6. 80 4> 1000 E6. 193 4> 2415 - ±15 

1,2-4<E?>DMF4= 
%2�4Cl2 

$�E?- 

%2�4Cl2-20 

>F 0 4> 2 6>?NG. >F 0 4> 8,23 
6>?NG. ±20 - 

E6. 2 4> 20 E6. 8,23 4> 82,3 - ±20 

-F<?F5??>7>?L
6 (2-

MF>>E<MF4=>?) 
%4�10O2 

$�E?- 

%4�10O2-20 

>F 0 4> 2 6>?NG. >F 0 4> 7,5 
6>?NG. ±20 - 

E6. 2 4> 20 E6. 7,5 4> 75 - ±20 

�<<5F<?>6O= 
MD<D C2H6O 

$�E?- 

C2H6O-500 

>F 0 4> 100 
6>?NG. 

>F 0 4> 192 
6>?NG. ±15 - 

E6. 100 4> 500 E6. 192 4> 958 - ±15 

2-<5F<??D>?4= 
(<7>5GF4=) i-

C4H10 

$�E?-i- 

C4H10-1000 

>F 0 4> 100 
6>?NG. 

>F 0 4> 241 
6>?NG. ±15 - 

E6. 100 4> 1000 E6. 241 4> 2417 - ±15 

2-<5F<?-1-

?D>?4=>? 
(<7>5GF4=>?) i-

C4H9OH 

$�E?-i- 

C4H9OH-20 

>F 0 4> 3 6>?NG. >F 0 4> 9,2 6>?NG. ±20 - 

E6. 3 4> 20 E6. 9,2 4> 61,6 - ±20 

&<>?>75>E4=>= 
C6H10O 

$�E?- 

C6H10O-20 

>F 0 4> 2 6>?NG. >F 0 4> 7 6>?NG. ±20 - 

E6. 2 4> 20 E6. 7 4> 70 - ±20 

2-5GF4=>= 
(<5F<?MF<?-

>5F>=) C4H8O 

$�E?- 

C4H8O-500 

>F 0 4> 60 6>?NG. >F 0 4> 180 
6>?NG. ±15 - 

E6. 60 4> 500 E6. 180 4> 1500 - ±15 

T5FD4MF<?>DF>E<
?<>4F (TEO%) 

C8H20O4Si 

$�E?-

C8H20O4Si-10 

>F 0 4> 2 6>?NG. >F 0 4> 17,3 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 17,3 4> 86,6 - ±20 
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�>>=G4=<5 F45?<FO 7 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<=2) 

>?D545?O5<>7> >><?>=5=F4 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
?>7D5L=>EF<, % 

>5N5<=>= 4>?<, 
% (<?=-1) 

<4EE>6>= 
>>=F5=FD4F<<3)

, <7/<3 

?D<654
5==>= 
> ��� 

>F=>E<
F5?L=>

= 

1 2 3 4 5 6 

�>D>?5<= 
C3H4O 

$�E?-  

C3H4O-10 

>F 0 4> 2 6>?NG. >F 0 4> 4,98 
6>?NG. ±20 - 

E6. 2 4> 10 E6. 4,98 4> 24,9 - ±20 

1)  3 ?D< >>=FD>?5 >><?>=5=F>6, G>474==OE 6 $G>>6>4EF65 ?> M>E??G4F4F<<, => 
=5 ?D<654U==OE 6 F45?<F5, 747>4=4?<74F>DO ?D<<5=ONFEO 4?O >?D545?5=<O E>45D64=<O 
>><?>=5=F>6 ?> <5F>4<>4< <7<5D5=<= (��), D47D45>F4==O< < 4FF5EF>64==O< 6 
E>>F65FEF6<< E ��%& $ 8.563-2009; 

2) 3 4<4?47>=O <7<5D5=<= >>=>D5F=OE 747>4=4?<74F>D>6 <>6=> <7<5=OFL 6=GFD< 
G>474==OE 6 F45?<F5 4<4?47>=>6. �<4?47>= ?>>474=<= 6OE>4=OE E<7=4?>6 E>>F65FEF6G5F 
4<4?47>=G >F 0 4> 100 % ���$ <?< 4<4?47>=G <7<5D5=<=; 

3) 3 ?5D5EG5F 7=4G5=<= >5N5<=>= 4>?< %, <?=-1, 6 <4EE>6GN >>=F5=FD4F<N %, 
<7/<3, ?D>6>4OF ?> D>D<G?5: %=%·�/Vm, 745 % 3 <4EE>64O >>=F5=FD4F<O >><?>=5=F4, 
<7/<3; M 3 <>?OD=4O <4EE4 >><?>=5=F4, 7/<>?L; Vm 3 <>?OD=O= >5N5< 7474-D47546<F5?O - 
6>74GE4, D46=O= 24,06, ?D< GE?>6<OE (20 % < 101,3 >�4 ?> ��%& 12.1.005-88), 4<3/<>?L. 

 

&45?<F4 8 3 �5FD>?>7<G5E><5 E4D4>F5D<EF<>< E ?>?G?D>6>4=<>>6O< E5=E>D>< (��) 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>5N5<=>= 4>?< 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
45E>?NF=>= 
?>7D5L=>EF< 

1 2 3 4 

�>4>D>4 H2 

��E?-�2-100 
>F 0 4> 4,0 % 

(>F 0 4> 100 % ���$) 
±0,2 % 

(±5 % ���$) 

��E?-�2-50 
>F 0 4> 2,0 % 

(>F 0 4> 50 % ���$) 
±0,2 % 

(±5 % ���$) 
��E?-�2-20 % >F 0 4> 20 % ±0,5 % 

�5F4= CH4 

��E?-CH4-100 
>F 0 4> 4,4 % 

(>F 0 4> 100 % ���$) 
±0,22 % 

(±5 % ���$) 

��E?-CH4-50& 
>F 0 4> 2,2 % 

(>F 0 4> 50 % ���$) 
±0,13 % 

(±3 % ���$) 

��E?-CH4-50 
>F 0 4> 2,2 % 

(>F 0 4> 50 % ���$) 
±0,22 % 

(±5 % ���$) 
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�D>4>?65=<5 F45?<FO 8 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>5N5<=>= 4>?< 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
45E>?NF=>= 
?>7D5L=>EF< 

1 2 3 4 

-F<?5= C2H4 

��E?-C2H4-100 
>F 0 4> 2,3 % 

(>F 0 4> 100 % ���$) 
±0,12 % 

(±5 % ���$) 

��E?-C2H4-50 
0 4> 1,15 % 

(>F 0 4> 50 % ���$) 
±0,12 % 

(±5 % ���$) 

�D>?4= C3H8 

��E?-C3H8-100 
0 4> 1,7 % 

(>F 0 4> 100 % ���$) 
±0,085 % 

(±5 % ���$) 

��E?-C3H8-50& 
>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,051 % 

(±3 % ���$) 

��E?-C3H8-50 
>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,085 % 

(±5 % ���$) 

=-5GF4=  
C4H10 

��E?-C4H10-100 
>F 0 4> 1,4 % 

(>F 0 4> 100 % ���$) 
±0,07 % 

(±5 % ���$) 

��E?-C4H10-50 
>F 0 4> 0,7 % 

(>F 0 4> 50 % ���$) 
±0,07 % 

(±5 % ���$) 

1-5GF5=  
C4H8 

��E?-C4H8-100 
>F 0 4> 1,6 % 

(>F 0 4> 100 % ���$) 
±0,08 % 

(±5 % ���$) 

��E?-C4H8-50 
>F 0 4> 0,8 % 

(>F 0 4> 50 % ���$) 
±0,08 % 

(±5 % ���$) 

2-<5F<??D>?4= 
(<7>5GF4=) i-C4H10 

��E?-i-C4H10-100 
>F 0 4> 1,30 % 

(>F 0 4> 100 % ���$) 
±0,065 % 

(±5 % ���$) 

��E?-i-C4H10-50 
>F 0 4> 0,65 % 

(>F 0 4> 50 % ���$) 
±0,065 % 

(±5 % ���$) 

=-?5=F4=  
C5H12 

��E?-C5H12-100 
>F 0 4> 1,1 % 

(>F 0 4> 100 % ���$) 
±0,055 % 

(±5 % ���$) 

��E?-C5H12-50 
>F 0 4> 0,55 % 

(>F 0 4> 50 % ���$) 
±0,055 % 

(±5 % ���$) 

&<>?>?5=F4=  
%5�10 

��E?-%5�10-100 
>F 0 4> 1,4 % 

(>F 0 4> 100 % ���$) 
±0,07 % 

(±5 % ���$) 

��E?-%5�10-50 
>F 0 4> 0,7 % 

(>F 0 4> 50 % ���$) 
±0,07 % 

(±5 % ���$) 

=-75>E4= C6H14 

��E?-C6H14-100 
>F 0 4> 1,0 % 

(>F 0 4> 100 % ���$) 
±0,05 % 

(±5 % ���$) 

��E?-C6H14-50 
>F 0 4> 0,5 % 

(>F 0 4> 50 % ���$) 
±0,05 % 

(±5 % ���$) 
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�D>4>?65=<5 F45?<FO 8 

�?D545?O5<O= >><?>=5=F1) �>4<D<>4F
<O E5=E>D4 

�<4?47>= 
<7<5D5=<= 
>5N5<=>= 

4>?< 
>?D545?O5

<>7> 
>><?>=5=F

42)3) 

�D545?O 
4>?GE>45

<>= 
>E=>6=>= 
45E>?NF=

>= 
?>7D5L=>

EF< 

1 2 3 4 

&<>?>75>E4=  
%6�12 

��E?-%6�12-

100 

>F 0 4> 
1,0 % 

(>F 0 4> 

100 % ��
�$) 

±0,05 % 

(±5 % 
���$) 

��E?-%6�12-

50 

>F 0 4> 
0,5 % 

(>F 0 4> 
50 % ���

$) 

±0,05 % 

(±5 % 
���$) 

�?D545?O5<
O= 

>><?>=5=F1) 

�>4<D<>4F
<O E5=E>D4 

�<4?47>= 
<7<5D5=<= 
>5N5<=>= 

4>?< 
>?D545?O5

<>7> 
>><?>=5=F

42)3) 

�D545?O 
4>?GE>45

<>= 
>E=>6=>= 
45E>?NF=

>= 
?>7D5L=>

EF< 

2-<5F<?- 

1,3-

5GF44<5= 

 (<7>?D5=) 
C5H8 

��E?-C5H8-

100 

>F 0 4> 
1,7 % 

(>F 0 4> 
100 % ��

�$) 

±0,085 % 

(±5 % 
���$) 

��E?-C5H8-

50 

>F 0 4> 
0,85 % 

(>F 0 4> 
50 % ���

$) 

±0,085 % 

(±5 % 
���$) 

�F5F<?5=  
%2�2 

��E?-%2�2-

100 

>F 0 4> 
2,30 % 

(>F 0 4> 
100 % ��

�$) 

±0,12 % 

(±5 % 
���$) 

�>D<?>=<FD
<? C3H3N 

��E?-

C3H3N-50 

>F 0 4> 
1,4 % 

(>F 0 4> 
50 % ���

$) 

±0,14 % 

(±5 % 
���$) 

�5F<?55=7
>? (F>?G>?)  

%7�8 

��E?-%7�8-

100 

>F 0 4> 
1,0 % 

±0,05 % 

(±5 % 
���$) 

��E?-C2H6-

100 

>F 0 4> 
2,4 % 

(>F 0 4> 
100 % ��

�$) 

±0,12 % 

(±5 % 
���$) 

��E?-C2H6-

50 

>F 0 4> 
1,2 % 

(>F 0 4> 
50 % ���

$) 

±0,12 % 

(±5 % 
���$) 
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(>F 0 4> 
100 % ��

�$) 

��E?-%7�8-

50 

>F 0 4> 
0,5 % 

(>F 0 4> 
50 % ���

$) 

±0,05 % 

(±5 % 
���$) 

-F<?55=7>?  
%8�10 

��E?- 

%8�10-37,5T 

>F 0 4> 
0,3 % 

(>F 0 4> 
37,5 % ��

�$) 

±0,024 % 

(±3 % 
���$) 

=->>F4=  
%8�18 

��E?-

%8�18-50 

>F 0 4> 
0,4 % 

(>F 0 4> 
50 % ���$

) 

±0,04 % 

(±5 % 
���$) 

-F<?4F5F4F  
%4�8�2 

��E?-

%4�8�2-50 

>F 0 4> 
1,0 % 

(>F 0 4> 
50 % ���$

) 

±0,1 % 

(±5 % 
���$) 

�GF<?4F5F4
F %6�12�2 

��E?-

%6�12�2-

25T 

>F 0 4> 
0,3 % 

(>F 0 4> 
25 % ���$

) 

±0,036 % 

(±3 % 
���$) 

1,3-

5GF44<5= 
(4<6<=<?) 

%4�6 

��E?-

%4�6-50 

>F 0 4> 
0,7 % 

(>F 0 4> 
50 % ���$

) 

±0,07 % 

(±5 % 
���$) 

1,2-

4<E?>DMF4= 
%2�4Cl2 

��E?-

%2�4Cl2-

50 

>F 0 4> 
3,1 % 

(>F 0 4> 
50 % ���$

) 

±0,31 % 

(±5 % 
���$) 

�<<5F<?EG?L
D<4 C2H6S 

��E?-

C2H6S-50 

>F 0 4> 
1,1 % 

(>F 0 4> 
50 % ���$

) 

±0,11 % 

(±5 % 
���$) 

1-75>E5=  
%6�12 

��E?-

%6�12-50 

>F 0 4> 
0,6 % 

(>F 0 4> 
50 % ���$

) 

±0,06 % 

(±5 % 
���$) 

2-5GF4=>? 
(6F>D-

5GF4=>?) 

��E?-s-%-

%4�9��-

31,2T 

>F 0 4> 
0,5 % 

±0,051 % 

(±3 % 
���$) 
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-F4=  
C2H6 

s-%-

C4H9OH 

(>F 0 4> 
31,2 % ���

$) 

�<=<?E?>D
<4 %2�3Cl 

��E?-

%2�3Cl-50 

>F 0 4> 
1,8 % 

(>F 0 4> 
50 % ���$

) 

±0,18 % 

(±5 % 
���$) 

&<>?>?D>?4= 
%3�6 

��E?-

%3�6-100 

>F 0 4> 
2,4 % 

(>F 0 4> 
100 % ��

�$) 

±0,12 % 

(±5 % 
���$) 

��E?-

%3�6-50 

>F 0 4> 
1,2 % 

(>F 0 4> 
50 % ���

$) 

±0,12 % 

(±5 % 
���$) 

�<<5F<?>6
O= MD<D 
%2�6� 

��E?-

%2�6�-50 

>F 0 4> 
1,35 % 

(>F 0 4> 
50 % ���

$) 

±0,14 % 

(±5 % 
���$) 

�5F4=>?  
%�3OH 

��E?-

%�3OH-50 

>F 0 4> 3,0 
% 

(>F 0 4> 
50 % ���

$) 

±0,3 % 

(±5 % 
���$) 

�5=7>?  
%6�6 

��E?-

%6�6-100 

>F 0 4> 
1,2 % 

(>F 0 4> 
100 % ��

�$) 

±0,06 % 

(±5 % 
���$) 

��E?-

%6�6-50 

>F 0 4> 
0,6 % 

(>F 0 4> 
50 % ���

$) 

±0,06 % 

(±5 % 
���$) 

�D>?<?5= (?D>?5=) C3H6 

��E?-

%3�6-100 

>F 0 4> 
2,0 % 

(>F 0 4> 
100 % ��

�$) 

±0,1 % 

(±5 % 
���$) 

��E?-

%3�6-50 

>F 0 4> 
1,0 % 

(>F 0 4> 
50 % ���

$) 

±0,1 % 

(±5 % 
���$) 
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-F4=>?  
%2�5�� 

��E?-

%2�5��-

50 

>F 0 4> 
1,5 % 

(>F 0 4> 
50 % ���

$) 

±0,16 % 

(±5 % 
���$) 

=-75?F4=  
%7�16 

��E?-

%7�16-100 

>F 0 4> 
0,85% 

(>F 0 4> 
100 % ��

�$) 

± 0,078 % 

(±5 % 
���$) 

��E?-

%7�16-50 

>F 0 4> 
0,425 % 

(>F 0 4> 
50 % ���

$) 

±0,042 % 

(±5 % 
���$) 

�>E<4 MF<?5=4 %2�4� 

��E?-

%2�4�-100 

>F 0 4> 
2,6 % 

(>F 0 4> 
100 % ��

�$) 

±0,13 % 

(±5 % 
���$) 

��E?-

%2�4�-50 

>F 0 4> 
1,3 % 

(>F 0 4> 
50 % ���

$) 

±0,13 % 

(±5 % 
���$) 

2-?D>?4=>= (4F5F>=) C3H6O 
��E?-

C3H6O-50 

>F 0 4> 
1,25 % 

(>F 0 4> 
50 % ���

$) 

±0,13 % 

(±5 % 
���$) 

2-<5F<??D>?5= (<7>5GF<?5=)  
i-C4H8 

��E?-i-

C4H8-100 

>F 0 4> 
1,6 % 

(>F 0 4> 
100 % ��

�$) 

±0,08 % 

(±5 % 
���$) 

��E?-i-

C4H8-50 

>F 0 4> 
0,8 % 

(>F 0 4> 
50 % ���

$) 

±0,08 % 

(±5 % 
���$) 
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�D>4>?65=<5 F45?<FO 8 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O 
E5=E>D4 

�<4?47>= <7<5D5=<= 
>5N5<=>= 4>?< 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 
4>?GE>45<>= 

>E=>6=>= 
45E>?NF=>= 
?>7D5L=>EF< 

1 2 3 4 

�<MF<?>6O= MD<D 
%4�10� 

��E?-%4�10�-50 
>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,085 % 

(±5 % ���$) 
�>E<4 ?D>?<?5=4 

%3�6� 
��E?-%3�6�-50 

>F 0 4> 0,95 % 

(>F 0 4> 50 % ���$) 
±0,095 % 

(±5 % ���$) 

%?>D55=7>?  
C6H5Cl 

��E?-%6�5Cl-38,4T 

>F 0 4> 0,5 % 

(>F 0 4> 
38,4 % ���$) 

±0,039 % 

(±3 % ���$) 

2-5GF4=>= 
(<5F<?MF<?>5F>=) 

C4H8O 

��E?-%4�8�-50 
>F 0 4> 0,75 % 

(>F 0 4> 50 % ���$) 
±0,075 % 

(±5 % ���$) 

2-<5F<?-2-?D>?4=>? 
(FD5F-5GF4=>?) tert-

%4�9�H 

��E?-tert- 

%4�9�H-50 

>F 0 4> 0,9 % 

(>F 0 4> 50 % ���$) 
±0,09 % 

(±5 % ���$) 

2-<5F>>E<-2-

<5F<??D>?4= 
(<5F<?FD5F5GF<?>6O= 

MD<D) tert-%5�12� 

��E?-tert- 

%5�12�-50 

>F 0 4> 0,8 % 

(>F 0 4> 50 % ���$) 
±0,08 % 

(±5 % ���$) 

1,4-4<<5F<?55=7>? (?-

>E<?>?) p-%8�10 

��E?-p-%8�10-

22,2T 

>F 0 4> 0,2 % 

(>F 0 4> 
22,2 % ���$) 

±0,027 % 

(±3 % ���$) 

1,2-4<<5F<?55=7>? (>-

>E<?>?) o-%8�10 
��E?-o-%8�10-20T 

>F 0 4> 0,2 % 

(>F 0 4> 20 % ���$) 
±0,03 % 

(±3 % ���$) 
2-?D>?4=>? 

(<7>?D>?4=>?)  
i-%3�7�� 

��E?-i-%3�7�H-50 
>F 0 4> 1,0 % 

(>F 0 4> 50 % ���$) 
±0,1 % 

(±5 % ���$) 

�>F5=  
%8�16 

��E?-%8�16-33,3T 
>F 0 4> 0,3 % 

(>F 0 4>33,3 % ���$) 
±0,027 % 

(±3 % ���$) 
2-<5F<?5GF4= 

(<7>?5=F4=) i-%5�12 
��E?-i-%5�12-50 

>F 0 4> 0,65 % 

(>F 0 4> 50 % ���$) 
±0,065 % 

(±5 % ���$) 
�5F4=F<>? 

(<5F<?<5D>4?F4=) 
%�3SH 

��E?-%�3SH-50 
>F 0 4> 2,05 % 

(>F 0 4> 50 % ���$) 
±0,21 % 

(±5 % ���$) 

-F4=F<>? 
(MF<?<5D>4?F4=) 

%2�5SH 

��E?- 

%2�5SH-50 

>F 0 4> 1,4 % 

(>F 0 4> 50 % ���$) 
±0,14 % 

(±5 % ���$) 

�F5F>=<FD<? %2�3N ��E?-%2�3N-50 
>F 0 4> 1,5 % 

(>F 0 4> 50 % ���$) 
±0,15 % 

(±5 % ���$) 
2,3-4<F<45GF4= 

(4<<5F<?4<EG?LD<4) 
%2�6S2 

��E?- 

%2�6S2-50 

>F 0 4> 0,55 % 

(>F 0 4> 50 % ���$) 
±0,055 % 

(±5 % ���$) 
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�>>=G4=<5 F45?<FO 8 

�?D545?O5<O= 
>><?>=5=F1) 

�>4<D<>4F<O  
E5=E>D4 

�<4?47>= <7<5D5=<= 
>5N5<=>= 4>?< 
>?D545?O5<>7> 
>><?>=5=F42)3) 

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= 

?>7D5L=>EF< 

1 2 3 4 

�5=7<=4)5) ��E? -CH-��-50 >F 0 4> 50 % ���$ ±5 % ���$ 

�<75?L=>5 
F>??<6>4)6) 

��E? -CH-��-50 >F 0 4> 50 % ���$ ±5 % ���$ 

�5D>E<=4)7) ��E? -CH-��-50 >F 0 4> 50 % ���$ ±5 % ���$ 

'4=F-E?<D<F4)8) ��E? -CH-��-50 >F 0 4> 50 % ���$ ±5 % ���$ 

%G<<4 
G7?56>4>D>4>6 ?> 

<5F4=G %2-%10 

(?>65D>G=O= 
>><?>=5=F <5F4=) 

��E? -C2C10CH4-

100 

>F 0 4> 4,4 % 

(>F 0 4> 
100 % ���$) 

±0,22 % 

(±5 % ���$) 

��E?-C2C10CH4-50 
>F 0 4> 2,2 % 

(>F 0 4> 50 % ���$) 
±0,22 % 

(±5 % ���$) 

��E? - C2C10 CH4-

3000 
>F 0 4> 3000 <7/<3 

>F 0 4> 500 <7/<3 

6>?NG. ±50 <7/<3 

E6. 500 4> 3000 <7/<3 

± (0,152·X - 15,6) 

%G<<4 
G7?56>4>D>4>6  

%2-%10 (?>65D>G=O= 
>><?>=5=F ?D>?4=) 

��E? -C2C10C3H8-

100 

>F 0 4> 1,7 % 

(>F 0 4> 
100 % ���$) 

±0,085 % 

(±5 % ���$) 

��E? -C2C10C3H8-

50 

>F 0 4> 0,85 % 

(>F 0 4> 50 % ���$) 
±0,085 % 

(±5 % ���$) 

��E? - C2C10 

C3H8-3000 
>F 0 4> 3000 <7/<3 

>F 0 4> 500 <7/<3 

6>?NG. ±50 <7/<3 

E6.500 4> 3000 <7/<3 

± (0,152·X 3 15,6) 

1) 3 ?D< >>=FD>?5 >><?>=5=F>6, G>474==OE 6 $G>>6>4EF65 ?> M>E??G4F4F<<, => 
=5 ?D<654U==OE 6 F45?<F5, 747>4=4?<74F>DO ?D<<5=ONFEO 4?O >?D545?5=<O E>45D64=<O 
>><?>=5=F>6 ?> <5F>4<>4< <7<5D5=<= (��), D47D45>F4==O< < 4FF5EF>64==O< 6 
E>>F65FEF6<< E ��%& $ 8.563-2009; 

2) 3 4<4?47>=O <7<5D5=<= >>=>D5F=OE 747>4=4?<74F>D>6 <>6=> <7<5=OFL 6=GFD< 
G>474==OE 6 F45?<F5 4<4?47>=>6. �<4?47>= ?>>474=<= 6OE>4=OE E<7=4?>6 E>>F65FEF6G5F 
4<4?47>=G >F 0 4> 100 % ���$ <?< 4<4?47>=G <7<5D5=<=; 

3) 3 7=4G5=<O ���$ 4?O 7>DNG<E 747>6 < ?4D>6 6 E>>F65FEF6<< E  
��%& $ �-� 31610.20-1-2020; 

4) 3 ?4DO =5DF5?D>4G>F>6 O6?ONFEO E<5ELN G7?56>4>D>4>6, ?>MF><G 
>4?<5DGNFEO ?> >>=>D5F=>= <4D>5 F>??<64, E G>474=<5< <4D>< 6 ?4E?>DF5 =4 ?D<5>D; 

5) 3 ?4DO 55=7<=4 ?> ��%& 1012-2013, ��%& $ 51866-2002; 

6) 3 ?4DO 4<75?L=>7> F>??<64 ?> ��%& 305-2013, ��%& 32511-2013, 

��%& 52368-2005; 

7) 3 ?4DO >5D>E<=4 ?> &' 38.401-58-8-90, �%& 38 01408-86; 

8) 3 G4=F-E?<D<F ?> ��%& $ 52368-2005; 

X 3 E>45D64=<5 >?D545?O5<>7> >><?>=5=F4 6 ?>65D>G=>= 747>6>= E<5E<, <7/<3. 
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&45?<F4 9 3 �>?>?=<F5?L=O5 <5FD>?>7<G5E><5 E4D4>F5D<EF<>< 

�4<<5=>64=<5 E4D4>F5D<EF<>< �=4G5=<5  
1 2 

�D5<O GEF4=>6?5=<O ?>>474=<= &0,9, E, =5 5>?551) 

3 4?O <=DD4>D4E=>7> E5=E>D4 

3 4?O F5D<>>4F4?<F<G5E>>7> E5=E>D4 

3 4?O M?5>FD>E<<<G5E>>7> E5=E>D4 

3 4?O D>F><>=<74F<>==>7> E5=E>D4 

3 4?O ?>?G?D>6>4=<>>6>7> E5=E>D4 

5 

10 

15 

15 

20 

�D545?O 4>?GE>45<>= 4>?>?=<F5?L=>= ?>7D5L=>EF< >F <7<5=5=<O 
F5<?5D4FGDO >>DG64NM5= ED54O >F =>D<4?L=>= =4 >464O5 10 º%, 
6 4>?OE >F ?D545?>6 4>?GE>45<>= >E=>6=>= ?>7D5L=>EF< 

±0,25 

1) 3 557 GG5F4 GEF4=>6?5==OE 74M<F=OE D<?LFD>6, 4 F4>65, 4?O 
D>F><>=<74F<>==>7> E5=E>D4, ?5D<>4<G=>EF< <7<5D5=<= >>=F5=FD4F<< (?5D<>4<G=>EFL 
>?D545?O5FEO ?D< 74>475 < <>65F 5OFL <7<5=5=4 ?>?L7>64F5?5<) 

 

&45?<F4 10 3 �E=>6=O5 F5E=<G5E><5 E4D4>F5D<EF<>< EF4F<>=4D=OE 747>4=4?<74F>D>6 

�4<<5=>64=<5 E4D4>F5D<EF<>< �=4G5=<5 

1 2 

�4?DO65=<5 ?<F4=<O >F E5F< ?5D5<5==>7> F>>4 G4EF>F>= 
50 �F, �  
�4?DO65=<5 ?<F4=<O >F E5F< ?>EF>O==>7> F>>4, � 

�><<=4?L=4O ?>FD55?O5<4O <>M=>EFL, =5 5>?55, �F 

220 

>F 17 4> 30 

4 

�454D<F=O5 D47<5DO 747>4=4?<74F>D>6  

(4?<=4 × L<D<=4 × 6OE>F4), <<, =5 5>?55: 

3 &1�, &1 

3 &2 

3 &1�%� 

 

 

170×125×90 

193×157×90 

160×125×75 

�4EE4, >7, =5 <5=55 3,0 

$45>G<5 GE?>6<O M>E??G4F4F<<: 
3 F5<?5D4FGD4 >>DG64NM57> 6>74GE4, >% 

 

 

3 >F=>E<F5?L=4O 6?46=>EFL, % (557 >>=45=E4F<< 6?47<), 
=5 5>?55  
3 4F<>ED5D=>5 446?5=<5, >�4 

 

>F -45 4> +60 

>F -55 4> 65 (>?F<>=4?L=>) 
>F -60 4> +65 (>?F<>=4?L=>) 

 

98 

>F 80 4> 120 

%F5?5=L 74M<FO IP ?> ��%& 14254-2015 IP 68 

�4D><D>6>4 67DO6>74M<FO  1�E db II% T4 Gb X 

%D54=<= ED>> E?G65O, ?5F 

%D54=OO =4D45>F>4 =4 >F>47, G 
12 

35000 
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&45?<F4 11 3 �E=>6=O5 F5E=<G5E><5 E4D4>F5D<EF<>< ?5D5=>E=OE 747>4=4?<74F>D>6  
�4<<5=>64=<5 E4D4>F5D<EF<>< �=4G5=<5 

1 2 

�><<=4?L=>5 =4?DO65=<5 54F4D5<, �  
&<? 54F4D5< 

�<>>EFL 54F4D5<, <�G 

3,7 

Li-ion 

1600 

�454D<F=O5 D47<5DO 747>4=4?<74F>D4 (4?<=4 × L<D<=4 × 
6OE>F4), <<, =5 5>?55: 
 3 �1 

 3 �2 

 3 �4 

 3 �5 

 

 

109×56×38 

98×57×32 

133×70×36 

160×90×36 

�4EE4, >7, =5 5>?55 0,40 

 �D5<O D45>FO 557 ?>474DO4>< 4>>G<G?OF>D4, G, =5 <5=55 8 

$45>G<5 GE?>6<O M>E??G4F4F<<: 
3 F5<?5D4FGD4 >>DG64NM57> 6>74GE4, >%  
3 >F=>E<F5?L=4O 6?46=>EFL, % (557 >>=45=E4F<< 6?47<), 
=5 5>?55  
3 4F<>ED5D=>5 446?5=<5, >�4 

 

>F -40 4> +50 

 

98 

>F 80 4> 120 

%F5?5=L 74M<FO IP ?> ��%& 14254-2015 IP 67 

�4D><D>6>4 67DO6>74M<FO  
3 �1 

 3 �2, �4, �5 

0�E ia IIC T3 Ga X 

0�E da ia IIC T3 Ga X 

%D54=<= ED>> E?G65O, ?5F 

%D54=OO =4D45>F>4 =4 >F>47, G: 
10 

30000 

 

�=4> GF65D645=<O F<?4 

=4=>E<FEO =4 F<FG?L=O5 ?<EFO DG>>6>4EF64 ?> M>E??G4F4F<< < ?4E?>DF4 F<?>7D4DE><< 
<5F>4><. 

 

�><??5>F=>EFL ED54EF64 <7<5D5=<= 

 

&45?<F4 12 3 �><??5>F=>EFL ED54EF64 <7<5D5=<= ?5D5=>E=OE 747>4=4?<74F>D>6 ����  
�4<<5=>64=<5 �5>7=4G5=<5 �>?<G5EF6> 

1 2 3 

�47>4=4?<74F>D  ���� 1 LF. 
$G>>6>4EF6> ?> M>E??G4F4F<< ���' 5921.00.00.000 $- 1M>7.1) 

�4E?>DF ���' 5921.00.00.000 �% 1 M>7. 
'?4>>6>4 3 1 

�D>7D4<<=>5 >55E?5G5=<5 (��)  3 12) 

�4?<5D>6>G=4O =4E44>4 3 12) 

�><<G=<>4F<>==O= >455?L  3 12) 

�4DO4=>5 GEFD>=EF6>  3 12) 
_______________ 

1) 3 >4<= M>75<??OD =4 ?4DF<N; 
2) 3 ?>EF46?O5FEO ?> >F45?L=><G 74>47G 
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&45?<F4 13 3 �><??5>F=>EFL ED54EF64 <7<5D5=<= EF4F<>=4D=OE 747>4=4?<74F>D>6 ���� 

�4<<5=>64=<5 �5>7=4G5=<5 �>?<G5EF6> 

1 2 3 

�47>4=4?<74F>D  ���� 1 LF. 
$G>>6>4EF6> ?> M>E??G4F4F<< ���' 5921.00.00.000 $- 1M>7.1) 

�4E?>DF ���' 5921.00.00.000 �% 1 M>7. 
'?4>>6>4 3 1 

�D>7D4<<=>5 >55E?5G5=<5 (��) 3 12) 

�G?LF G?D46?5=<O 3 12) 

�4?<5D>6>G=4O =4E44>4 3 12) 

�>7OD5> 74M<FO >F 4F<>ED5D=OE 
>E44>>6 < E>?=F4 

3 12) 

�><??5>F 4?O <>=F464 =4 FDG5G 3 12) 

�><??5>F 4?O <>=F464 6 6>74GE>6>45 3 12) 

�455?L=O= 66>4 3 12) 

�47?GL>4  3 12) 

$47N5< 4?O HART->><<G=<>4F>D4 3 12) 

�>F>G=4O =4E44>4 4?O F5E=>?>7<G5E><E 
ED54 

3 12) 

%65F>76G>>6>= >?>65M4F5?L 3 12) 

%5=E>D=4O ??4F4 (���� %�) 3 12) 
_________________________ 

1) 3 >4<= M>75<??OD =4 ?4DF<N; 

2) 3 ?>EF46?O5FEO ?> >F45?L=><G 74>47G 

 

%6545=<O > <5F>4<>4E (<5F>44E) <7<5D5=<= 

?D<6545=O 6 D4745?5 9 4>>G<5=F4 ���' 5921.00.00.000 $-. �47>4=4?<74F>DO ����. 

$G>>6>4EF6> ?> M>E??G4F4F<<». 
 

�>D<4F<6=O5 4>>G<5=FO, GEF4=46?<64NM<5 FD55>64=<O > ED54EF6G <7<5D5=<= 

�D<>47 $545D4?L=>7> 475=FEF64 ?> F5E=<G5E>><G D57G?<D>64=<N < <5FD>?>7<<  
>F 31 45>45DO 2020 7. 7 2315 «�5 GF65D645=<< 7>EG44DEF65==>= ?>65D>G=>= EE5<O 4?O 
ED54EF6 <7<5D5=<= E>45D64=<O >><?>=5=F>6 6 747>6OE < 747>>>=45=E4F=OE ED544E»; 

��%& 13320-81 �47>4=4?<74F>DO ?D><OL?5==O5 46F><4F<G5E><5. �5M<5 
F5E=<G5E><5 GE?>6<O; 
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